Base Line	e Item Deta	ail			Earle Aspha	ılt Company	George Harms (Construction Co.,	D'Annunzio &	Sons, Inc.	Northeast Rems	· ·	Midlantic Const	truction, LLC	A. Servidone Inc	,	South S	tate, Inc.	Anselmi and	DeCicco, Inc
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	1D01LAY	1	L.S.	Construction Layout	\$942,567.16	\$942,567.16	\$1,000,000.00	\$1,000,000.00	\$945,305.60	\$945,305.60	\$1,000,000.00	\$1,000,000.00	\$1,100,000.00	\$1,100,000.00	\$550,000.00	\$550,000.00	\$700,000.00	\$700,000.00	\$1,200,000.00	\$1,200,000.00
2	1D10MOB	1	L.S.	Mobilization	\$4,389,000.12	\$4,389,000.12	\$3,665,000.00	\$3,665,000.00	\$3,600,000.00	\$3,600,000.00	\$3,800,000.00	\$3,800,000.00	\$4,000,000.00	\$4,000,000.00	\$7,700,000.00	\$7,700,000.00	\$3,919,000.00	\$3,919,000.00	\$7,700,000.00	\$7,700,000.00
3	1G01SCH	1	L.S.	Progress Schedule	\$33,190.13	\$33,190.13	\$10,000.00	\$10,000.00	\$50,000.00	\$50,000.00	\$100,000.00	\$100,000.00	\$1,000.00	\$1,000.00	\$40,000.00	\$40,000.00	\$20,000.00	\$20,000.00	\$25,000.00	\$25,000.00
4	1HFP220	1	L.S.	Fuel Price Adjustment (This is a NO-BID, Lump Sum item for this contract. The Lump Sum price is \$220,000. Enter a Unit Price of \$220,000 as your bid for this item.)	\$220,000.00	\$220,000.00	\$220,000.00	\$220,000.00	\$220,000.00	\$220,000.00	\$220,000.00	\$220,000.00	\$220,000.00	\$220,000.00	\$220,000.00	\$220,000.00	\$220,000.00	\$220,000.00	\$220,000.00	\$220,000.00
5	2A02CAG	1	L.S.	Clearing and Grubbing	\$538,790.51	\$538,790.51	\$1,892,500.00	\$1,892,500.00	\$1,740,000.00	\$1,740,000.00	\$1,400,000.00	\$1,400,000.00	\$1,713,000.00	\$1,713,000.00	\$1,650,000.00	\$1,650,000.00	\$1,900,000.00	\$1,900,000.00	\$2,000,000.00	\$2,000,000.00
6	2B02REX	178,000.00	C.Y.	Roadway Excavation, Earth	\$8.53	\$1,518,340.00	\$7.00	\$1,246,000.00	\$5.00	\$890,000.00	\$10.50	\$1,869,000.00	\$11.00	\$1,958,000.00	\$6.20	\$1,103,600.00	\$12.00	\$2,136,000.00	\$8.00	\$1,424,000.00
7	2B15STS	23,000.00	C.Y.	Stripping Topsoil	\$5.75	\$132,250.00	\$5.75	\$132,250.00	\$20.00	\$460,000.00	\$10.00	\$230,000.00	\$11.00	\$253,000.00	\$6.00	\$138,000.00	\$11.00	\$253,000.00	\$5.00	\$115,000.00
8	2C01EMB	353,000.00	C.Y.	Embankment, Common	\$11.32	\$3,995,960.00	\$12.00	\$4,236,000.00	\$15.00	\$5,295,000.00	\$14.25	\$5,030,250.00	\$9.00	\$3,177,000.00	\$14.00	\$4,942,000.00	\$12.00	\$4,236,000.00	\$14.00	\$4,942,000.00
9	2C02EMB	99,000.00	C.Y.	Embankment, Grade A	\$18.53	\$1,834,470.00	\$20.00	\$1,980,000.00	\$21.00	\$2,079,000.00	\$21.00	\$2,079,000.00	\$16.00	\$1,584,000.00	\$19.00	\$1,881,000.00	\$23.00	\$2,277,000.00	\$22.00	\$2,178,000.00
10	2C04EMB	65	C.Y.	Porous Fill	\$89.60	\$5,824.00	\$23.00	\$1,495.00	\$150.00	\$9,750.00	\$100.00	\$6,500.00	\$65.00	\$4,225.00	\$80.00	\$5,200.00	\$66.00	\$4,290.00	\$55.00	\$3,575.00
11	2L02SBB	2,310.00	C.Y.	Subbase, Designation I-3	\$26.49	\$61,191.90	\$26.00	\$60,060.00	\$40.00	\$92,400.00	\$21.00	\$48,510.00	\$32.00	\$73,920.00	\$40.00	\$92,400.00	\$37.00	\$85,470.00	\$20.00	\$46,200.00
12	2E01CAL	380	C.Y.	Coarse Aggregate Layer	\$52.27	\$19,862.60	\$48.75	\$18,525.00	\$75.00	\$28,500.00	\$27.00	\$10,260.00	\$57.00	\$21,660.00	\$85.00	\$32,300.00	\$56.00	\$21,280.00	\$55.00	\$20,900.00
13	2E01FEX	2,540.00	C.Y.	Foundataion Excavation	\$18.65	\$47,371.00	\$23.75	\$60,325.00	\$40.00	\$101,600.00	\$55.00	\$139,700.00	\$26.00	\$66,040.00	\$35.00	\$88,900.00	\$44.00	\$111,760.00	\$50.00	\$127,000.00
14	2D01DAM	1	L.S.	Cofferdam No. 1	\$107,088.18	\$107,088.18	\$60,000.00	\$60,000.00	\$50,000.00	\$50,000.00	\$30,000.00	\$30,000.00	\$136,000.00	\$136,000.00	\$50,000.00	\$50,000.00	\$200,000.00	\$200,000.00	\$50,000.00	\$50,000.00
15	2D02DAM	1	L.S.	Cofferdam No. 2	\$107,088.18	\$107,088.18	\$70,000.00	\$70,000.00	\$50,000.00	\$50,000.00	\$35,000.00	\$35,000.00	\$218,000.00	\$218,000.00	\$35,000.00	\$35,000.00	\$200,000.00	\$200,000.00	\$50,000.00	\$50,000.00
16	2D03DAM	1	L.S.	Cofferdam No. 3	\$82,786.88	\$82,786.88	\$10,000.00	\$10,000.00	\$50,000.00	\$50,000.00	\$8,000.00	\$8,000.00	\$40,000.00	\$40,000.00	\$10,000.00	\$10,000.00	\$75,000.00	\$75,000.00	\$25,000.00	\$25,000.00
17	2F03TEX	550	C.Y.	Trench Excavation, Earth	\$35.85	\$19,717.50	\$15.00	\$8,250.00	\$40.00	\$22,000.00	\$38.00	\$20,900.00	\$16.00	\$8,800.00	\$100.00	\$55,000.00	\$24.00	\$13,200.00	\$25.00	\$13,750.00
18	2G01RAP	162	Ton	Riprap Stone Scour Hole, 12" Thick, D50=6"	\$125.00	\$20,250.00	\$62.75	\$10,165.50	\$75.00	\$12,150.00	\$195.00	\$31,590.00	\$142.00	\$23,004.00	\$130.00	\$21,060.00	\$55.00	\$8,910.00	\$60.00	\$9,720.00
19	2G12A06	110	Ton	Riprap Stone Aprons, 12" Thick, D50=6"	\$125.00	\$13,750.00	\$79.50	\$8,745.00	\$75.00	\$8,250.00	\$182.00	\$20,020.00	\$142.00	\$15,620.00	\$130.00	\$14,300.00	\$55.00	\$6,050.00	\$60.00	\$6,600.00
20	2G12A08	50	Ton	Riprap Stone Aprons, 24" Thick (D50=12")	\$125.00	\$6,250.00	\$62.75	\$3,137.50	\$85.00	\$4,250.00	\$163.00	\$8,150.00	\$142.00	\$7,100.00	\$75.00	\$3,750.00	\$61.00	\$3,050.00	\$70.00	\$3,500.00
21	2H00007	46,000.00	L.F.	Heavy Duty Silt Fence, Black	\$4.96	\$228,160.00	\$6.50	\$299,000.00	\$6.00	\$276,000.00	\$5.00	\$230,000.00	\$8.00	\$368,000.00	\$5.00	\$230,000.00	\$6.00	\$276,000.00	\$5.00	\$230,000.00
22	2H00015	16	S.F.	Inlet Filter, Type 1	\$15.27	\$244.32	\$22.50	\$360.00	\$100.00	\$1,600.00	\$30.00	\$480.00	\$100.00	\$1,600.00	\$20.00	\$320.00	\$150.00	\$2,400.00	\$25.00	\$400.00
23	2H00016	202	Each	Inlet Filter, Type 2	\$89.27	\$18,032.54	\$123.00	\$24,846.00	\$80.00	\$16,160.00	\$155.00	\$31,310.00	\$200.00	\$40,400.00	\$220.00	\$44,440.00	\$150.00	\$30,300.00	\$200.00	\$40,400.00
24	2H25TEC	200	C.Y.	Hay Bales	\$50.83	\$10,166.00	\$108.00	\$21,600.00	\$35.00	\$7,000.00	\$35.00	\$7,000.00	\$44.00	\$8,800.00	\$115.00	\$23,000.00	\$25.00	\$5,000.00	\$40.00	\$8,000.00
25	2H35TEC	400	L.F.	Floating Turbidity Barriers	\$10.44	\$4,176.00			\$40.00	\$16,000.00	\$30.85	\$12,340.00	\$40.00	\$16,000.00		\$12,000.00	\$20.00	\$8,000.00		\$12,000.00
26	2H45TEC	610	Ton	Construction Driveway	\$36.39	\$22,197.90	\$70.00	\$42,700.00	\$35.00	\$21,350.00	\$47.35	\$28,883.50	\$36.00	\$21,960.00	\$50.00	\$30,500.00	\$43.00	\$26,230.00	\$45.00	\$27,450.00
27	2J10DES	1	L.S.	Demolition of Existing Toll Plaza	\$49,746.53	\$49,746.53	\$25,000.00	\$25,000.00	\$100,000.00	\$100,000.00	\$75,000.00	\$75,000.00	\$51,000.00	\$51,000.00	\$180,000.00	\$180,000.00	\$16,000.00	\$16,000.00	\$40,000.00	\$40,000.00
28	2J11DES	1	L.S.	Demolition of Existing Structures No. 1	\$297,301.84	\$297,301.84	\$500,000.00	\$500,000.00	\$450,000.00	\$450,000.00	\$525,000.00	\$525,000.00	\$138,000.00	\$138,000.00	\$360,000.00	\$360,000.00	\$300,000.00	\$300,000.00	\$750,000.00	\$750,000.00
29	2J12DES	1	L.S.	Demolition of Existing Structures No. 2	\$298,277.67	\$298,277.67	\$1,000,000.00	\$1,000,000.00	\$450,000.00	\$450,000.00	\$525,000.00	\$525,000.00	\$138,000.00	\$138,000.00	\$360,000.00	\$360,000.00	\$300,000.00	\$300,000.00	\$750,000.00	\$750,000.00
30	2J13DES	1	L.S.	Demolition of Existing Structures No. 3	\$27,637.44	\$27,637.44	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$4,000.00	\$4,000.00	\$4,500.00	\$4,500.00	\$20,000.00	\$20,000.00	\$10,000.00	\$10,000.00

Base Line	e Item Deta	ail			Earle Asphalt	t Company	George Harms Co		D'Annunzio	& Sons, Inc.	Northeast Rems	sco Construction,	Midlantic Cor	struction, LLC	A. Servidone Inc Const C		South S	tate, Inc.	Anselmi and	DeCicco, Inc
31	2J14DES	1	L.S.	Demolition of Existing Structures No. 4	\$27,637.44	\$27,637.44	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$4,000.00	\$4,000.00	\$4,500.00	\$4,500.00	\$20,000.00	\$20,000.00	\$10,000.00	\$10,000.00
32	2J15DES	1	L.S.	Demolition of Existing Structures No. 5	\$27,637.44	\$27,637.44	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$4,000.00	\$4,000.00	\$2,500.00	\$2,500.00	\$20,000.00	\$20,000.00	\$10,000.00	\$10,000.00
33	2K01TPF	27,000.00	L.F.	Temporary Orange Plastic Fence	\$2.18	\$58,860.00	\$6.00	\$162,000.00	\$2.50	\$67,500.00	\$4.85	\$130,950.00	\$6.00	\$162,000.00	\$4.00	\$108,000.00	\$1.00	\$27,000.00	\$1.50	\$40,500.00
39	2M00003	1	L.S.	Vibration and Movement Monitoring	\$49,295.25	\$49,295.25	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$65,000.00	\$65,000.00	\$70,000.00	\$70,000.00	\$70,000.00	\$70,000.00	\$50,000.00	\$50,000.00	\$25,000.00	\$25,000.00
40	3A06ABC	200	S.Y.	Aggregate Base Course, 6" Thick	\$25.56	\$5,112.00	\$8.75	\$1,750.00	\$10.00	\$2,000.00	\$10.00	\$2,000.00	\$12.00	\$2,400.00	\$30.00	\$6,000.00	\$17.00	\$3,400.00	\$6.75	\$1,350.00
41	3A08ABC	214,700.00	S.Y.	Aggregate Base Course, 8" Thick	\$6.55	\$1,406,285.00	\$6.25	\$1,341,875.00	\$8.00	\$1,717,600.00	\$6.50	\$1,395,550.00	\$7.00	\$1,502,900.00	\$8.20	\$1,760,540.00	\$11.00	\$2,361,700.00	\$6.75	\$1,449,225.00
42	3A08DBC	16,800.00	S.Y.	Dense-Graded Aggregate Base Course, 8" Thick	\$7.52	\$126,336.00	\$6.25	\$105,000.00	\$10.00	\$168,000.00	\$7.00	\$117,600.00	\$8.00	\$134,400.00	\$8.50	\$142,800.00	\$11.00	\$184,800.00	\$8.00	\$134,400.00
43	3B21SUP	61,300.00	Ton	Superpave Hot Mix Asphalt 25H 64 Base Course	\$44.95	\$2,755,435.00	\$62.25	\$3,815,925.00	\$68.00	\$4,168,400.00	\$67.00	\$4,107,100.00	\$72.00	\$4,413,600.00	\$60.00	\$3,678,000.00	\$68.00	\$4,168,400.00	\$68.00	\$4,168,400.00
44	3B25SUP	24,900.00	Ton	Superpave Hot Mix Asphalt 12.5H 76 Surface Course	\$80.80	\$2,011,920.00	\$80.00	\$1,992,000.00	\$77.00	\$1,917,300.00	\$76.00	\$1,892,400.00	\$87.00	\$2,166,300.00	\$50.00	\$1,245,000.00	\$85.00	\$2,116,500.00	\$75.00	\$1,867,500.00
45	3B26TAC	20,100.00	Gallon	Tack Coat	\$4.59	\$92,259.00	\$5.25	\$105,525.00	\$2.10	\$42,210.00	\$2.00	\$40,200.00	\$3.00	\$60,300.00	\$5.00	\$100,500.00	\$0.01	\$201.00	\$3.00	\$60,300.00
46	3B33SUP	29,600.00	Ton	Superpave Hot Mix Asphalt 19H 64 Intermediate Course	\$85.75	\$2,538,200.00	\$65.00	\$1,924,000.00	\$70.00	\$2,072,000.00	\$69.00	\$2,042,400.00	\$79.00	\$2,338,400.00	\$62.00	\$1,835,200.00	\$77.00	\$2,279,200.00	\$70.00	\$2,072,000.00
47	3В32НМА	11,200.00	Ton	Hot Mix Asphalt 12.5M 76 Surface Course	\$81.75	\$915,600.00	\$80.00	\$896,000.00	\$80.00	\$896,000.00	\$79.00	\$884,800.00	\$87.00	\$974,400.00	\$71.00	\$795,200.00	\$88.00	\$985,600.00	\$78.00	\$873,600.00
48	звззнма	4,850.00	Ton	Hot Mix Asphalt 25M 64 Base Course	\$46.95	\$227,707.50	\$65.00	\$315,250.00	\$74.00	\$358,900.00	\$73.00	\$354,050.00	\$83.00	\$402,550.00	\$68.00	\$329,800.00	\$80.00	\$388,000.00	\$74.00	\$358,900.00
49	3В34НМА	2,440.00	Ton	Hot Mix Asphalt 19M 76 Intermediate Course	\$90.75	\$221,430.00	\$90.00	\$219,600.00	\$83.00	\$202,520.00	\$82.00	\$200,080.00	\$94.00	\$229,360.00	\$80.00	\$195,200.00	\$91.00	\$222,040.00	\$80.00	\$195,200.00
50	3B200APA	1	L.S.	Asphalt Price Adjustment (This is a NO-BID, Lump Sum item for this contract. The Lump Sum price is \$200,000. Enter a Unit Price of \$200,000 as your bid for this item.)	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00
51	3C01BRS	23,300.00	S.Y.	Berm Surfacing, 3 Inches Thick	\$13.99	\$325,967.00	\$16.25	\$378,625.00	\$19.00	\$442,700.00	\$19.00	\$442,700.00	\$25.00	\$582,500.00	\$24.00	\$559,200.00	\$19.00	\$442,700.00	\$23.00	\$535,900.00
52	3D05APS	2,870.00	S.Y.	Bridge Approach Slab	\$325.82	\$935,103.40	\$420.00	\$1,205,400.00	\$300.00	\$861,000.00	\$430.75	\$1,236,252.50	\$328.00	\$941,360.00	\$450.00	\$1,291,500.00	\$400.00	\$1,148,000.00	\$425.00	\$1,219,750.00
53	3N00003	2,600.00	S.Y.	Concrete Base Course, 10" Thick	\$80.70	\$209,820.00	\$100.00	\$260,000.00	\$40.00	\$104,000.00	\$65.00	\$169,000.00	\$169.00	\$439,400.00	\$65.00	\$169,000.00	\$63.00	\$163,800.00	\$66.00	\$171,600.00
54	3D00004	140	S.Y.	Reinforced Concrete Pavement	\$319.39	\$44,714.60	\$325.00	\$45,500.00	\$200.00	\$28,000.00	\$137.00	\$19,180.00	\$234.00	\$32,760.00	\$125.00	\$17,500.00	\$168.00	\$23,520.00	\$140.00	\$19,600.00
55	3E07PMR	56,600.00	S.Y.	Pavement Removal, 2" Depth	\$1.79	\$101,314.00	\$3.25	\$183,950.00	\$2.90	\$164,140.00	\$2.85	\$161,310.00	\$3.00	\$169,800.00	\$2.60	\$147,160.00	\$3.00	\$169,800.00	\$2.75	\$155,650.00

Base Lin	e Item Deta	ail			Earle Aspha	ılt Company	George Harms (Construction Co.,	D'Annunzio &	Sons, Inc.	Northeast Rems	co Construction,	Midlantic Cons	truction, LLC	A. Servidone Ind Const (c and B. Anthony Corp JV	South S	tate, Inc.	Anselmi and	DeCicco, Inc
56	3E20PMR	72,850.00	S.Y.	Pavement Removal, Variable Depth	\$2.49	\$181,396.50	\$3.50	\$254,975.00	\$2.90	\$211,265.00	\$2.85	\$207,622.50	\$3.00	\$218,550.00	\$3.00	\$218,550.00	\$2.50	\$182,125.00	\$3.00	\$218,550.00
57	3F01MRS	49,800.00	L.F.	Milled Rumble Strip	\$0.35	\$17,430.00	\$0.42	\$20,916.00	\$0.40	\$19,920.00	\$0.36	\$17,928.00	\$0.25	\$12,450.00	\$0.75	\$37,350.00	\$0.15	\$7,470.00	\$0.30	\$14,940.00
58	3103SAS	8,900.00	Ton	Asphalt Rubber Open Graded Friction Course	\$133.42	\$1,187,438.00	\$130.00	\$1,157,000.00	\$125.00	\$1,112,500.00	\$120.00	\$1,068,000.00	\$137.00	\$1,219,300.00	\$200.00	\$1,780,000.00	\$156.00	\$1,388,400.00	\$110.00	\$979,000.00
59	4A01STC	742	C.Y.	Concrete In Substructure Above Footings	\$1,100.00	\$816,200.00	\$1,275.00	\$946,050.00	\$800.00	\$593,600.00	\$1,800.00	\$1,335,600.00	\$1,078.00	\$799,876.00	\$1,300.00	\$964,600.00	\$1,400.00	\$1,038,800.00	\$1,500.00	\$1,113,000.00
60	4A04STC	1,467.00	C.Y.	Concrete In Footings	\$300.00	\$440,100.00	\$470.00	\$689,490.00	\$600.00	\$880,200.00	\$500.00	\$733,500.00	\$412.00	\$604,404.00	\$450.00	\$660,150.00	\$400.00	\$586,800.00	\$500.00	\$733,500.00
61	4A00030	11	C.Y.	Concrete in Canopy Pedestal	\$1,073.91	\$11,813.01	\$1,550.00	\$17,050.00	\$1,200.00	\$13,200.00	\$2,000.00	\$22,000.00	\$1,589.00	\$17,479.00	\$3,000.00	\$33,000.00	\$800.00	\$8,800.00	\$3,000.00	\$33,000.00
62	4A10RFS	294,400.00	Pound	Reinforcement Steel	\$1.49	\$438,656.00	\$1.35	\$397,440.00	\$1.80	\$529,920.00	\$1.68	\$494,592.00	\$1.50	\$441,600.00	\$1.40	\$412,160.00	\$1.40	\$412,160.00	\$2.00	\$588,800.00
63	4A11RFS	743,154.00	Pound	Reinforcement Steel, Epoxy Coated	\$1.57	\$1,166,751.78	\$1.50	\$1,114,731.00	\$1.80	\$1,337,677.20	\$1.78	\$1,322,814.12	\$1.60	\$1,189,046.40	\$1.60	\$1,189,046.40	\$1.55	\$1,151,888.70	\$2.10	\$1,560,623.40
64	4A55CPS	21,000.00	S.F.	Concrete Penetrating SealerTreatment	\$3.50	\$73,500.00	\$1.60	\$33,600.00	\$1.00	\$21,000.00	\$1.50	\$31,500.00	\$2.00	\$42,000.00	\$1.50	\$31,500.00	\$1.00	\$21,000.00	\$3.00	\$63,000.00
65	4A55WRT	650	S.F.	Water Repellant Treatment	\$5.73	\$3,724.50	\$2.60	\$1,690.00	\$11.00	\$7,150.00	\$10.00	\$6,500.00	\$22.00	\$14,300.00	\$4.00	\$2,600.00	\$3.00	\$1,950.00	\$15.00	\$9,750.00
66	N4A0001	5,940.00	S.Y.	Sawcut Grooved Deck Surface	\$2.61	\$15,503.40	\$3.00	\$17,820.00	\$3.50	\$20,790.00	\$2.75	\$16,335.00	\$3.00	\$17,820.00	\$3.00	\$17,820.00	\$3.00	\$17,820.00	\$3.00	\$17,820.00
67	N4A0003	653	L.F.	Strip Seal Expansion Joints, 4" Movement	\$409.50	\$267,403.50	\$1,200.00	\$783,600.00	\$240.00	\$156,720.00	\$250.00	\$163,250.00	\$238.00	\$155,414.00	\$300.00	\$195,900.00	\$210.00	\$137,130.00	\$250.00	\$163,250.00
68	4C01SSC	20,686.00	Each	Shear Connectors	\$4.01	\$82,950.86	\$3.20	\$66,195.20	\$5.00	\$103,430.00	\$4.20	\$86,881.20	\$3.00	\$62,058.00	\$6.00	\$124,116.00	\$4.00	\$82,744.00	\$5.00	\$103,430.00
69	4CSSL01	1	L.S.	Structural Steel Structure No. 1	\$1,750,000.00	\$1,750,000.00	\$1,025,000.00	\$1,025,000.00	\$1,410,000.00	\$1,410,000.00	\$1,500,000.00	\$1,500,000.00	\$1,200,000.00	\$1,200,000.00	\$1,200,000.00	\$1,200,000.00	\$1,750,000.00	\$1,750,000.00	\$1,300,000.00	\$1,300,000.00
70	4CSSL02	1	L.S.	Structural Steel Structure No. 2	\$1,750,000.00	\$1,750,000.00	\$1,100,000.00	\$1,100,000.00	\$1,410,000.00	\$1,410,000.00	\$1,500,000.00	\$1,500,000.00	\$1,200,000.00	\$1,200,000.00	\$1,200,000.00	\$1,200,000.00	\$1,750,000.00	\$1,750,000.00	\$1,300,000.00	\$1,300,000.00
71	4CSSL03	1	L.S.	Structural Steel Structure No. 3	\$1,500,000.00	\$1,500,000.00	\$1,100,000.00	\$1,100,000.00	\$1,300,000.00	\$1,300,000.00	\$1,600,000.00	\$1,600,000.00	\$1,300,000.00	\$1,300,000.00	\$1,350,000.00	\$1,350,000.00	\$1,750,000.00	\$1,750,000.00	\$1,550,000.00	\$1,550,000.00
72	4CSSL04	1	L.S.	Structural Steel Structure No. 4	\$1,500,000.00	\$1,500,000.00	\$1,130,000.00	\$1,130,000.00	\$1,300,000.00	\$1,300,000.00	\$1,600,000.00	\$1,600,000.00	\$1,300,000.00	\$1,300,000.00	\$1,350,000.00	\$1,350,000.00	\$1,750,000.00	\$1,750,000.00	\$1,550,000.00	\$1,550,000.00
73	4C37HMR	32	Each	HLMR Bearings, 50 Kips to 300 Kips, Type E	\$2,887.92	\$92,413.44	\$2,800.00	\$89,600.00	\$2,600.00	\$83,200.00	\$12,000.00	\$384,000.00	\$3,200.00	\$102,400.00	\$3,000.00	\$96,000.00	\$2,000.00	\$64,000.00	\$4,500.00	\$144,000.00
74	4C38HMR	28	Each	HLMR Bearings, 50 Kips to 300 Kips, Type EL	\$3,165.80	\$88,642.40	\$3,200.00	\$89,600.00	\$2,900.00	\$81,200.00	\$12,000.00	\$336,000.00	\$3,200.00	\$89,600.00	\$3,500.00	\$98,000.00	\$2,400.00	\$67,200.00	\$5,000.00	\$140,000.00
75	4C39HMR	14	Each	HLMR Bearings, 150 Kips to 700 Kips, Type F	\$2,956.25	\$41,387.50	\$3,325.00	\$46,550.00	\$2,800.00	\$39,200.00	\$12,000.00	\$168,000.00	\$3,200.00	\$44,800.00	\$4,500.00	\$63,000.00	\$2,500.00	\$35,000.00	\$4,500.00	\$63,000.00
76	4C40HMR	16	Each	HLMR Bearings, 150 Kips to 700 Kips, Type ET	\$3,508.59	\$56,137.44	\$4,100.00	\$65,600.00	\$3,200.00	\$51,200.00	\$12,000.00	\$192,000.00	\$3,200.00	\$51,200.00	\$3,700.00	\$59,200.00	\$3,300.00	\$52,800.00	\$5,500.00	\$88,000.00
77	4.00E+26	1,520.00	L.F.	14 Inch Diameter Steel Pipe Test Piles	\$106.66	\$162,123.20	\$125.00	\$190,000.00	\$140.00	\$212,800.00	\$80.00	\$121,600.00	\$123.00	\$186,960.00	\$90.00	\$136,800.00	\$135.00	\$205,200.00	\$150.00	\$228,000.00
78	4.00E+27	219	Each	Point Reinforcement For 14 Inch Diameter Steel Pipe Piles	\$286.31	\$62,701.89	\$300.00	\$65,700.00	\$250.00	\$54,750.00	\$250.00	\$54,750.00	\$287.00	\$62,853.00	\$250.00	\$54,750.00	\$260.00	\$56,940.00	\$300.00	\$65,700.00
79	4.00E+28	111	Each	Splices For 14 Inch Diameter Steel Pipe Piles	\$602.14	\$66,837.54	\$200.00	\$22,200.00	\$200.00	\$22,200.00	\$75.00	\$8,325.00	\$0.01	\$1.11	\$700.00	\$77,700.00	\$800.00	\$88,800.00	\$650.00	\$72,150.00

Base Line	e Item Deta	ail			Earle Aspha	It Company	George Harms (Construction Co., c.	D'Annunzio &	Sons, Inc.	Northeast Rems	•	Midlantic Const	ruction, LLC	A. Servidone Inc		South S	tate, Inc.	Anselmi and	DeCicco, Inc
80	4.00E+30	14,280.00	L.F.	Furnishing 14" Diameter Steel Pipe Piles	\$44.85	\$640,458.00	\$60.00	\$856,800.00	\$40.00	\$571,200.00	\$40.00	\$571,200.00	\$67.00	\$956,760.00	\$35.00	\$499,800.00	\$43.00	\$614,040.00	\$55.00	\$785,400.00
81	4.00E+31	12,360.00	L.F.	Driving 14" Diameter Steel Pipe Piles	\$55.40	\$684,744.00	\$35.00	\$432,600.00	\$40.00	\$494,400.00	\$30.00	\$370,800.00	\$19.00	\$234,840.00	\$5.00	\$61,800.00	\$45.00	\$556,200.00	\$55.00	\$679,800.00
82	4E01EDP	1	L.S.	Furnishing Equipment for Driving Piles	\$2,500,000.00	\$2,500,000.00	\$100,000.00	\$100,000.00	\$500,000.00	\$500,000.00	\$350,000.00	\$350,000.00	\$1,749,000.00	\$1,749,000.00	\$900,000.00	\$900,000.00	\$750,000.00	\$750,000.00	\$250,000.00	\$250,000.00
83	4E01PLT	33	Each	Dynamic Pile Load Tests	\$3,090.38	\$101,982.54	\$1,500.00	\$49,500.00	\$1,000.00	\$33,000.00	\$1,000.00	\$33,000.00	\$0.01	\$0.33	\$3,500.00	\$115,500.00	\$2,000.00	\$66,000.00	\$2,500.00	\$82,500.00
84	4F01GMP	64	Pound	Aluminum Posts for Ground Mounted Signs	\$25.13	\$1,608.32	\$25.00	\$1,600.00	\$36.00	\$2,304.00	\$34.00	\$2,176.00	\$28.00	\$1,792.00	\$27.00	\$1,728.00	\$34.00	\$2,176.00	\$30.00	\$1,920.00
85	4F01CSS	1	L.S.	Overhead Cantilever Sign Support Structure No. 1	\$73,765.95	\$73,765.95	\$90,000.00	\$90,000.00	\$74,000.00	\$74,000.00	\$85,000.00	\$85,000.00	\$110,000.00	\$110,000.00	\$75,000.00	\$75,000.00	\$87,000.00	\$87,000.00	\$100,000.00	\$100,000.00
86	4F02CSS	1	L.S.	Overhead Cantilever Sign Support Structure No. 2	\$71,397.12	\$71,397.12	\$90,000.00	\$90,000.00	\$72,000.00	\$72,000.00	\$85,000.00	\$85,000.00	\$110,000.00	\$110,000.00	\$75,000.00	\$75,000.00	\$87,000.00	\$87,000.00	\$100,000.00	\$100,000.00
87	4F03CSS	1	L.S.	Overhead Cantilever Sign Support Structure No. 3	\$50,934.43	\$50,934.43	\$45,000.00	\$45,000.00	\$50,000.00	\$50,000.00	\$40,000.00	\$40,000.00	\$56,000.00	\$56,000.00	\$54,000.00	\$54,000.00	\$45,000.00	\$45,000.00	\$50,000.00	\$50,000.00
88	4F04CSS	1	L.S.	Overhead Cantilever Sign Support Structure No. 4	\$50,270.44	\$50,270.44	\$45,000.00	\$45,000.00	\$50,000.00	\$50,000.00	\$40,000.00	\$40,000.00	\$56,000.00	\$56,000.00	\$54,000.00	\$54,000.00	\$62,000.00	\$62,000.00	\$50,000.00	\$50,000.00
89	4F05CSS	1	L.S.	Overhead Cantilever Sign Support Structure No. 5	\$66,627.29	\$66,627.29	\$65,000.00	\$65,000.00	\$67,000.00	\$67,000.00	\$60,000.00	\$60,000.00	\$77,000.00	\$77,000.00	\$70,000.00	\$70,000.00	\$62,000.00	\$62,000.00	\$70,000.00	\$70,000.00
90	4F06CSS	1	L.S.	Overhead Cantilever Sign Support Structure No. 6	\$68,505.07	\$68,505.07	\$65,000.00	\$65,000.00	\$70,000.00	\$70,000.00	\$60,000.00	\$60,000.00	\$77,000.00	\$77,000.00	\$72,000.00	\$72,000.00	\$88,000.00	\$88,000.00	\$70,000.00	\$70,000.00
91	4F07CSS	1	L.S.	Overhead Cantilever Sign Support Structure No. 7	\$73,765.95	\$73,765.95	\$90,000.00	\$90,000.00	\$74,000.00	\$74,000.00	\$85,000.00	\$85,000.00	\$105,000.00	\$105,000.00	\$78,000.00	\$78,000.00	\$88,000.00	\$88,000.00	\$100,000.00	\$100,000.00
92	4F08CSS	1	L.S.	Overhead Cantilever Sign Support Structure No. 8	\$71,397.12	\$71,397.12	\$90,000.00	\$90,000.00	\$42,000.00	\$42,000.00	\$85,000.00	\$85,000.00	\$105,000.00	\$105,000.00	\$75,000.00	\$75,000.00	\$88,000.00	\$88,000.00	\$100,000.00	\$100,000.00
93	4F11CSP	292	C.Y.	Concrete in Structures, Pedestals	\$706.57	\$206,318.44	\$825.00	\$240,900.00	\$720.00	\$210,240.00	\$704.00	\$205,568.00	\$1,000.00	\$292,000.00	\$1,600.00	\$467,200.00	\$850.00	\$248,200.00	\$800.00	\$233,600.00
94	4F26OSS	1	L.S.	Overhead Span Sign Support Structure No. 1	\$224,666.77	\$224,666.77	\$325,000.00	\$325,000.00	\$225,000.00	\$225,000.00	\$190,000.00	\$190,000.00	\$350,000.00	\$350,000.00	\$210,000.00	\$210,000.00	\$300,000.00	\$300,000.00	\$330,000.00	\$330,000.00
95	4F33OSS	1	L.S.	Overhead Span Sign Support Structure No. 2	\$223,560.49	\$223,560.49	\$325,000.00	\$325,000.00	\$225,000.00	\$225,000.00	\$190,000.00	\$190,000.00	\$350,000.00	\$350,000.00	\$210,000.00	\$210,000.00	\$300,000.00	\$300,000.00	\$330,000.00	\$330,000.00
96	4F34OSS	1	L.S.	Overhead Span Sign Support Structure No. 3	\$138,937.66	\$138,937.66	\$200,000.00	\$200,000.00	\$140,000.00	\$140,000.00	\$100,000.00	\$100,000.00	\$230,000.00	\$230,000.00	\$130,000.00	\$130,000.00	\$175,000.00	\$175,000.00	\$200,000.00	\$200,000.00
97	4F35OSS	1	L.S.	Overhead Span Sign Support Structure No. 4	\$142,245.40	\$142,245.40	\$200,000.00	\$200,000.00	\$145,000.00	\$145,000.00	\$120,000.00	\$120,000.00	\$230,000.00	\$230,000.00	\$130,000.00	\$130,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00
98	4F36OSS	1	L.S.	Overhead Span Sign Support Structure No. 5	\$142,245.40	\$142,245.40	\$200,000.00	\$200,000.00	\$145,000.00	\$145,000.00	\$120,000.00	\$120,000.00	\$230,000.00	\$230,000.00	\$130,000.00	\$130,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00

Base Line	e Item Deta	il			Earle Asph	alt Company	George Harms C	·	D'Annunzio	& Sons, Inc.	Northeast Remsc	•	Midlantic Con	struction, LLC	A. Servidone Inc a		South S	tate, Inc.	Anselmi and I	DeCicco, Inc
99	4F37OSS	1	L.S.	Overhead Span Sign Support Structure No. 6	\$142,644.45	\$142,644.45	\$200,000.00	\$200,000.00	\$145,000.00	\$145,000.00	\$120,000.00	\$120,000.00	\$230,000.00	\$230,000.00	\$130,000.00	\$130,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00
100	4F38OSS	1	L.S.	Overhead Span Sign Support Structure No. 7	\$142,644.45	\$142,644.45	\$200,000.00	\$200,000.00	\$145,000.00	\$145,000.00	\$120,000.00	\$120,000.00	\$230,000.00	\$230,000.00	\$130,000.00	\$130,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00
101	4F50OSS	1	L.S.	Overhead Span Sign Support Structure No. 8	\$142,644.45	\$142,644.45	\$200,000.00	\$200,000.00	\$145,000.00	\$145,000.00	\$120,000.00	\$120,000.00	\$230,000.00	\$230,000.00	\$130,000.00	\$130,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00
102	4F51OSS	1	L.S.	Overhead Span Sign Support Structure No. 9	\$142,644.45	\$142,644.45	\$200,000.00	\$200,000.00	\$145,000.00	\$145,000.00	\$120,000.00	\$120,000.00	\$230,000.00	\$230,000.00	\$130,000.00	\$130,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00
103	4F52OSS	1	L.S.	Overhead Span Sign Support Structure No. 10	\$223,560.49	\$223,560.49	\$200,000.00	\$200,000.00	\$225,000.00	\$225,000.00	\$190,000.00	\$190,000.00	\$340,000.00	\$340,000.00	\$210,000.00	\$210,000.00	\$290,000.00	\$290,000.00	\$325,000.00	\$325,000.00
104	4J01DAW	1,286.00	S.Y.	Damp-proofing	\$0.01	\$12.86	\$115.00	\$147,890.00	\$15.00	\$19,290.00	\$30.00	\$38,580.00	\$37.00	\$47,582.00	\$15.00	\$19,290.00	\$23.00	\$29,578.00	\$20.00	\$25,720.00
105	4002TSP	17,850.00	S.F.	Temporary Sheeting to Remain in Place	\$0.01	\$178.50	\$42.00	\$749,700.00	\$75.00	\$1,338,750.00	\$41.00	\$731,850.00	\$0.01	\$178.50	\$85.00	\$1,517,250.00	\$75.00	\$1,338,750.00	\$40.00	\$714,000.00
106	4P01PSS	470	S.F.	Permanent Steel Sheeting, Type PZ27	\$0.01	\$4.70	\$65.00	\$30,550.00	\$40.00	\$18,800.00	\$40.00	\$18,800.00	\$54.00	\$25,380.00	\$75.00	\$35,250.00	\$53.00	\$24,910.00	\$40.00	\$18,800.00
107	4R25BSR	10,191.00	S.F.	Substructure Membrane Waterproofing	\$0.01	\$101.91	\$9.50	\$96,814.50	\$13.00	\$132,483.00	\$15.00	\$152,865.00	\$9.00	\$91,719.00	\$9.00	\$91,719.00	\$8.00	\$81,528.00	\$15.00	\$152,865.00
108	4ZF0001	2,050.00	S.F.	MSE Abutment Wall No. 1	\$50.00	\$102,500.00	\$95.00	\$194,750.00	\$120.00	\$246,000.00	\$130.00	\$266,500.00	\$110.00	\$225,500.00	\$135.00	\$276,750.00	\$135.00	\$276,750.00	\$180.00	\$369,000.00
109	4ZF0024	2,370.00	S.F.	MSE Abutment Wall No. 2	\$50.00	\$118,500.00	\$95.00	\$225,150.00	\$120.00	\$284,400.00	\$115.00	\$272,550.00	\$110.00	\$260,700.00	\$125.00	\$296,250.00	\$124.00	\$293,880.00	\$180.00	\$426,600.00
110	4ZF0030	1,960.00	S.F.	MSE Abutment Wall No. 3	\$50.00	\$98,000.00	\$85.00	\$166,600.00	\$120.00	\$235,200.00	\$102.00	\$199,920.00	\$110.00	\$215,600.00	\$115.00	\$225,400.00	\$120.00	\$235,200.00	\$180.00	\$352,800.00
111	4ZF0025	2,500.00	S.F.	MSE Abutment Wall No. 4	\$50.00	\$125,000.00	\$85.00	\$212,500.00	\$70.00	\$175,000.00	\$110.00	\$275,000.00	\$110.00	\$275,000.00	\$115.00	\$287,500.00	\$110.00	\$275,000.00	\$180.00	\$450,000.00
112	4ZF0026	3,040.00	S.F.	MSE Abutment Wall No. 5	\$50.00	\$152,000.00	\$100.00	\$304,000.00	\$140.00	\$425,600.00	\$150.00	\$456,000.00	\$110.00	\$334,400.00	\$150.00	\$456,000.00	\$148.00	\$449,920.00	\$180.00	\$547,200.00
113	4ZF0046	3,500.00	S.F.	MSE Abutment Wall No. 6	\$50.00	\$175,000.00	\$100.00	\$350,000.00	\$90.00	\$315,000.00	\$115.00	\$402,500.00	\$110.00	\$385,000.00	\$115.00	\$402,500.00	\$110.00	\$385,000.00	\$180.00	\$630,000.00
114	4ZF0027	2,010.00	S.F.	MSE Abutment Wall No. 7	\$50.00	\$100,500.00	\$100.00	\$201,000.00	\$140.00	\$281,400.00	\$175.00	\$351,750.00	\$110.00	\$221,100.00	\$160.00	\$321,600.00	\$195.00	\$391,950.00	\$180.00	\$361,800.00
115	4ZF0028	1,550.00	S.F.	MSE Abutment Wall No. 8	\$50.00	\$77,500.00	\$100.00	\$155,000.00	\$140.00	\$217,000.00	\$170.00	\$263,500.00	\$110.00	\$170,500.00	\$165.00	\$255,750.00	\$175.00	\$271,250.00	\$180.00	\$279,000.00
116	4ZL0009	400	L.F.	36" Diameter Drilled Shaft	\$543.56	\$217,424.00	\$525.00	\$210,000.00	\$550.00	\$220,000.00	\$500.00	\$200,000.00	\$536.00	\$214,400.00	\$500.00	\$200,000.00	\$575.00	\$230,000.00	\$500.00	\$200,000.00
117	4ZL04DDS	408	L.F.	48" Diameter Drilled Shaft	\$670.03	\$273,372.24	\$450.00	\$183,600.00	\$670.00	\$273,360.00	\$600.00	\$244,800.00	\$671.00	\$273,768.00	\$800.00	\$326,400.00	\$700.00	\$285,600.00	\$600.00	\$244,800.00
118	4ZL0016	171	L.F.	54" Drilled Shaft for Sign Structures	\$731.36	\$125,062.56	\$525.00	\$89,775.00	\$730.00	\$124,830.00	\$700.00	\$119,700.00	\$700.00	\$119,700.00	\$1,000.00	\$171,000.00	\$750.00	\$128,250.00	\$600.00	\$102,600.00
119	4ZL0021	50	L.F.	60" Diameter Drilled Shaft	\$835.31	\$41,765.50	\$825.00	\$41,250.00	\$840.00	\$42,000.00	\$800.00	\$40,000.00	\$846.00	\$42,300.00	\$1,200.00	\$60,000.00	\$875.00	\$43,750.00	\$800.00	\$40,000.00
120	4ZM03HPC	73	C.Y.	Concrete in Headblock, HPC	\$1,212.50	\$88,512.50	\$2,600.00	\$189,800.00	\$1,000.00	\$73,000.00	\$1,750.00	\$127,750.00	\$900.00	\$65,700.00	\$1,300.00	\$94,900.00	\$1,250.00	\$91,250.00	\$1,500.00	\$109,500.00
121	4ZM04HPC	394	C.Y.	Concrete in Parapet, HPC	\$1,155.39	\$455,223.66	\$800.00	\$315,200.00	\$880.00	\$346,720.00	\$876.00	\$345,144.00	\$700.00	\$275,800.00	\$1,000.00	\$394,000.00	\$850.00	\$334,900.00	\$900.00	\$354,600.00
122	4ZM06HPC	1,860.00	C.Y.	Concrete in Deck, HPC	\$788.90	\$1,467,354.00	\$650.00	\$1,209,000.00	\$550.00	\$1,023,000.00	\$725.00	\$1,348,500.00	\$600.00	\$1,116,000.00	\$700.00	\$1,302,000.00	\$765.00	\$1,422,900.00	\$700.00	\$1,302,000.00
123	4ZN00SHR	1	L.S.	Temporary Shoring	\$142,245.33	\$142,245.33	\$150,000.00	\$150,000.00	\$200,000.00	\$200,000.00	\$150,000.00	\$150,000.00	\$360,000.00	\$360,000.00	\$150,000.00	\$150,000.00	\$400,000.00	\$400,000.00	\$100,000.00	\$100,000.00
124	5A00002	10	L.F.	8-Inch Combination Underdrain	\$19.99		\$23.25	\$232.50	\$60.00	\$600.00	\$175.00	\$1,750.00	\$200.00	\$2,000.00	\$125.00	\$1,250.00		\$1,000.00	\$24.00	\$240.00
125	5A08PUD	32,149.00	L.F.	8" Pipe Underdrain	\$13.21	\$424,688.29	\$24.50	\$787,650.50	\$22.00	\$707,278.00	\$25.00	\$803,725.00	\$39.00	\$1,253,811.00	\$21.00	\$675,129.00			\$24.00	\$771,576.00
126	5A12PBD	2,439.00	L.F.	12" Bleeder Drain	\$22.72		\$25.00	\$60,975.00	\$25.00	\$60,975.00	\$21.00	\$51,219.00	\$52.00	\$126,828.00	\$30.00	\$73,170.00	·		\$20.00	\$48,780.00
127	N5A0006	5	L.F.	6" HDPE Pipe	\$25.26	\$126.30	\$45.50	\$227.50	\$70.00	\$350.00	\$300.00	\$1,500.00	\$200.00	\$1,000.00	\$135.00	\$675.00	\$200.00	\$1,000.00	\$30.00	\$150.0

Base Line	ltem Detai	I			Earle Asph	alt Company	George Harms C	•	D'Annunzio	& Sons, Inc.	Northeast Remso	,	Midlantic Con	struction, LLC	A. Servidone Inc a		South S	tate, Inc.	Anselmi and	DeCicco, Inc
128	5B00045	1,155.00	L.F.	14" x 23" Reinforced Concrete Elliptical Pipe, Class V	\$54.38	\$62,808.90	\$79.50	\$91,822.50	\$50.00	\$57,750.00	\$65.00	\$75,075.00	\$82.00	\$94,710.00	\$85.00	\$98,175.00	\$75.00	\$86,625.00	\$80.00	\$92,400.00
129	5B00019	228	L.F.	24"X38" Reinforced Concrete Elliptical Pipe	\$84.68	\$19,307.04	\$101.50	\$23,142.00	\$140.00	\$31,920.00	\$108.00	\$24,624.00	\$116.00	\$26,448.00	\$80.00	\$18,240.00	\$100.00	\$22,800.00	\$65.00	\$14,820.00
130	5B00062	96	L.F.	27"x42" Horizontal Elliptical Reinforced Concrete Pipe	\$50.54	\$4,851.84	\$134.75	\$12,936.00	\$150.00	\$14,400.00	\$150.00	\$14,400.00	\$135.00	\$12,960.00	\$130.00	\$12,480.00	\$133.00	\$12,768.00	\$100.00	\$9,600.00
133	5D00001	88	C.Y.	Fill Abandoned Pipe	\$197.67	\$17,394.96	\$200.00	\$17,600.00	\$250.00	\$22,000.00	\$380.00	\$33,440.00	\$627.00	\$55,176.00	\$375.00	\$33,000.00	\$122.00	\$10,736.00	\$325.00	\$28,600.00
134	5B00067	375	L.F.	60"x42" Centrifugally Cast Concrete Pipe	\$75.38	\$28,267.50	\$1,175.00	\$440,625.00	\$710.00	\$266,250.00	\$600.00	\$225,000.00	\$847.00	\$317,625.00	\$650.00	\$243,750.00	\$700.00	\$262,500.00	\$650.00	\$243,750.00
135	5B00068	367	L.F.	65"x40" Centrifugally Cast Concrete Pipe	\$75.38	\$27,664.46	\$1,275.00	\$467,925.00	\$810.00	\$297,270.00	\$600.00	\$220,200.00	\$909.00	\$333,603.00	\$700.00	\$256,900.00	\$750.00	\$275,250.00	\$650.00	\$238,550.00
136	5B01CSD	1,050.00	L.F.	Cleaning Existing Storm Drains	\$11.06	\$11,613.00	\$13.00	\$13,650.00	\$16.00	\$16,800.00	\$25.00	\$26,250.00	\$9.00	\$9,450.00	\$20.00	\$21,000.00	\$10.00	\$10,500.00	\$50.00	\$52,500.00
137	5B01RPR	100	S.F.	Spall Repair, Pipes	\$502.50	\$50,250.00	\$55.00	\$5,500.00	\$150.00	\$15,000.00	\$300.00	\$30,000.00	\$213.00	\$21,300.00	\$250.00	\$25,000.00	\$100.00	\$10,000.00	\$150.00	\$15,000.00
138	5B15RC3	15,454.00	L.F.	15" Reinforced Concrete Pipe	\$27.28	\$421,585.12	\$38.00	\$587,252.00	\$40.00	\$618,160.00	\$45.00	\$695,430.00	\$56.00	\$865,424.00	\$20.00	\$309,080.00	\$50.00	\$772,700.00	\$45.00	\$695,430.00
139	5B15RCE	24	Each	15" Reinforced Concrete Flared End Section	\$1,019.01	\$24,456.24	\$600.00	\$14,400.00	\$600.00	\$14,400.00	\$1,300.00	\$31,200.00	\$843.00	\$20,232.00	\$1,200.00	\$28,800.00	\$1,300.00	\$31,200.00	\$1,300.00	\$31,200.00
140	5B18RC3	5,990.00	L.F.	18" Reinforced Concrete Pipe	\$30.43	\$182,275.70	\$42.50	\$254,575.00	\$40.00	\$239,600.00	\$47.00	\$281,530.00	\$60.00	\$359,400.00	\$20.00	\$119,800.00	\$20.00	\$119,800.00	\$60.00	\$359,400.00
141	5B18RCE	34	Each	18" Reinforced Concrete Flared End Section	\$1,075.23	\$36,557.82	\$740.00	\$25,160.00	\$400.00	\$13,600.00	\$1,550.00	\$52,700.00	\$924.00	\$31,416.00	\$1,250.00	\$42,500.00	\$1,400.00	\$47,600.00	\$1,400.00	\$47,600.00
142	5B24RC3	751	L.F.	24" Reinforced Concrete Pipe	\$39.09	\$29,356.59	\$62.25	\$46,749.75	\$70.00	\$52,570.00	\$70.00	\$52,570.00	\$68.00	\$51,068.00	\$60.00	\$45,060.00	\$61.00	\$45,811.00	\$60.00	\$45,060.00
143	5B24RCE	5	Each	24" Reinforced Concrete Flared End Sections	\$1,586.24	\$7,931.20	\$1,250.00	\$6,250.00	\$1,000.00	\$5,000.00	\$2,450.00	\$12,250.00	\$1,900.00	\$9,500.00	\$1,800.00	\$9,000.00	\$1,800.00	\$9,000.00	\$2,000.00	\$10,000.00
144	5B30RC3	203	L.F.	30 " Reinforced Concrete Pipe, Class III	\$54.50	\$11,063.50	\$76.44	\$15,517.32	\$150.00	\$30,450.00	\$110.00	\$22,330.00	\$77.00	\$15,631.00	\$70.00	\$14,210.00	\$76.00	\$15,428.00	\$100.00	\$20,300.00
145	5B30RCE	1	Each	30" Reinforced Concrete Flared End Sections	\$1,724.28	\$1,724.28	\$1,550.00	\$1,550.00	\$1,500.00	\$1,500.00	\$3,100.00	\$3,100.00	\$2,200.00	\$2,200.00	\$2,000.00	\$2,000.00	\$2,100.00	\$2,100.00	\$2,500.00	\$2,500.00
146	5B42RC3	99	L.F.	42" Reinforced Concrete Pipe	\$87.68	\$8,680.32	\$151.75	\$15,023.25	\$200.00	\$19,800.00	\$130.00	\$12,870.00	\$134.00	\$13,266.00	\$120.00	\$11,880.00	\$110.00	\$10,890.00	\$150.00	\$14,850.00
147	5B00079	315	L.F.	106" x 101" Centrifugally Cast Concrete Pipe	\$150.75	\$47,486.25	\$2,250.00	\$708,750.00	\$1,750.00	\$551,250.00	\$1,050.00	\$330,750.00	\$2,200.00	\$693,000.00	\$1,650.00	\$519,750.00	\$1,950.00	\$614,250.00	\$1,200.00	\$378,000.00
148	5B00080	228	L.F.	72" Centrifugally Cast Concrete Pipe	\$150.75	\$34,371.00	\$1,400.00	\$319,200.00	\$890.00	\$202,920.00	\$750.00	\$171,000.00	\$1,100.00	\$250,800.00	\$800.00	\$182,400.00	\$900.00	\$205,200.00	\$900.00	\$205,200.00
149	5C00004	10	Each	Outlet Control Structure	\$6,220.30	\$62,203.00	\$10,000.00	\$100,000.00	\$5,000.00	\$50,000.00	\$13,000.00	\$130,000.00	\$8,000.00	\$80,000.00	\$11,000.00	\$110,000.00	\$13,000.00	\$130,000.00	\$12,000.00	\$120,000.00
150	5C00008	12	Each	Inlet, Type Double D2	\$4,233.55	\$50,802.60	\$4,700.00	\$56,400.00	\$4,000.00	\$48,000.00	\$6,500.00	\$78,000.00	\$5,100.00	\$61,200.00	\$4,500.00	\$54,000.00	\$5,100.00	\$61,200.00	\$4,500.00	\$54,000.00
151	5C00010	2	Unit	Inlet, Type D1 (NJDOT)	\$2,113.49	\$4,226.98	\$2,900.00	\$5,800.00	\$2,000.00	\$4,000.00	\$3,400.00	\$6,800.00	\$3,600.00	\$7,200.00	\$2,500.00	\$5,000.00	\$3,500.00	\$7,000.00	\$3,500.00	\$7,000.00
152	5C00011	1	Unit	Inlet, Type D2 (NJDOT)	\$5,230.31	\$5,230.31	\$5,600.00	\$5,600.00	\$4,500.00	\$4,500.00	\$4,800.00	\$4,800.00	\$4,500.00	\$4,500.00	\$6,500.00	\$6,500.00	\$4,400.00	\$4,400.00	\$6,000.00	\$6,000.00
153	5C00059	14	Unit	Manhole, 6' Diameter	\$1,894.31	\$26,520.34	\$4,900.00	\$68,600.00	\$2,000.00	\$28,000.00	\$5,100.00	\$71,400.00	\$4,300.00	\$60,200.00	\$4,500.00	\$63,000.00	\$5,400.00	\$75,600.00	\$3,000.00	\$42,000.0

Base Line	tem Deta	ail			Earle Asphalt	Company	George Harms Co	nstruction Co.,	D'Annunzio	& Sons, Inc.	Northeast Rems	sco Construction,	Midlantic Con	struction, LLC	A. Servidone Inc a		South S	tate, Inc.	Anselmi and	DeCicco, Inc
154	5C00072	1	Each	Inlet, Type B (NJDOT)	\$2,783.44	\$2,783.44	\$3,200.00	\$3,200.00	\$2,500.00	\$2,500.00	\$3,700.00	\$3,700.00	\$3,600.00	\$3,600.00	\$2,600.00	\$2,600.00	\$3,700.00	\$3,700.00	\$4,500.00	\$4,500.00
155	5C01ND1	60	Each	Inlet, Type D1	\$1,908.05	\$114,483.00	\$2,900.00	\$174,000.00	\$2,000.00	\$120,000.00	\$3,000.00	\$180,000.00	\$3,400.00	\$204,000.00	\$2,400.00	\$144,000.00	\$4,100.00	\$246,000.00	\$2,300.00	\$138,000.00
156	5C01ND2	80	Each	Inlet, Type D2	\$2,698.85	\$215,908.00	\$3,500.00	\$280,000.00	\$3,000.00	\$240,000.00	\$3,200.00	\$256,000.00	\$3,800.00	\$304,000.00	\$2,800.00	\$224,000.00	\$4,800.00	\$384,000.00	\$2,700.00	\$216,000.00
157	5C00073	10	Each	Inlet, Type E (NJDOT)	\$2,382.82	\$23,828.20	\$3,300.00	\$33,000.00	\$2,400.00	\$24,000.00	\$3,700.00	\$37,000.00	\$4,500.00	\$45,000.00	\$2,800.00	\$28,000.00	\$4,000.00	\$40,000.00	\$2,700.00	\$27,000.00
158	5C10INT	2	Each	Inlet Converted to Manhole	\$2,027.15	\$4,054.30	\$2,600.00	\$5,200.00	\$1,600.00	\$3,200.00	\$2,100.00	\$4,200.00	\$2,100.00	\$4,200.00	\$2,200.00	\$4,400.00	\$1,600.00	\$3,200.00	\$2,000.00	\$4,000.00
159	5C10ND2	7	Each	Reconstructed Inlet, Type D2, Using New Grate and Frame	\$1,241.68	\$8,691.76	\$1,850.00	\$12,950.00	\$1,800.00	\$12,600.00	\$1,800.00	\$12,600.00	\$2,100.00	\$14,700.00	\$2,000.00	\$14,000.00	\$2,000.00	\$14,000.00	\$2,000.00	\$14,000.00
160	5C20NP1	7	Each	Manhole, Type P-1	\$2,162.38	\$15,136.66	\$4,200.00	\$29,400.00	\$1,800.00	\$12,600.00	\$3,800.00	\$26,600.00	\$5,500.00	\$38,500.00	\$3,300.00	\$23,100.00	\$3,600.00	\$25,200.00	\$3,000.00	\$21,000.00
161	5C01CHM	2	Each	Inlet Chamber No. 1	\$85,000.00	\$170,000.00	\$35,500.00	\$71,000.00	\$35,000.00	\$70,000.00	\$49,000.00	\$98,000.00	\$31,000.00	\$62,000.00	\$50,000.00	\$100,000.00	\$41,000.00	\$82,000.00	\$40,000.00	\$80,000.00
162	5C02CHM	1	Each	Inlet Chamber No. 2	\$85,000.00	\$85,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$25,000.00	\$25,000.00	\$16,000.00	\$16,000.00	\$24,000.00	\$24,000.00	\$21,000.00	\$21,000.00	\$20,000.00	\$20,000.00
163	5C03CHM	1	Each	Inlet Chamber No. 3	\$85,000.00	\$85,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$26,000.00	\$26,000.00	\$16,000.00	\$16,000.00	\$23,000.00	\$23,000.00	\$21,000.00	\$21,000.00	\$20,000.00	\$20,000.00
164	5C04CHM	1	Each	Inlet Chamber No. 4	\$85,000.00	\$85,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$23,000.00	\$23,000.00	\$13,000.00	\$13,000.00	\$21,000.00	\$21,000.00	\$18,000.00	\$18,000.00	\$20,000.00	\$20,000.00
165	5C05CHM	1	Each	Inlet Chamber No. 5	\$85,000.00	\$85,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$23,000.00	\$23,000.00	\$13,000.00	\$13,000.00	\$22,000.00	\$22,000.00	\$18,000.00	\$18,000.00	\$20,000.00	\$20,000.00
166	5C20NP2	3	Each	Manhole, Type P-2	\$2,714.24	\$8,142.72	\$4,500.00	\$13,500.00	\$2,500.00	\$7,500.00	\$4,800.00	\$14,400.00	\$4,700.00	\$14,100.00	\$4,500.00	\$13,500.00	\$4,700.00	\$14,100.00	\$3,000.00	\$9,000.00
167	5C40RSF	2	Each	Reset Frame	\$200.62	\$401.24	\$350.00	\$700.00	\$1,000.00	\$2,000.00	\$1,050.00	\$2,100.00	\$700.00	\$1,400.00	\$1,000.00	\$2,000.00	\$400.00	\$800.00	\$500.00	\$1,000.00
168	5D10INC	245	C.Y.	Incidental Concrete	\$1,800.42	\$441,102.90	\$760.00	\$186,200.00	\$800.00	\$196,000.00	\$1,300.00	\$318,500.00	\$2,800.00	\$686,000.00	\$800.00	\$196,000.00	\$1,000.00	\$245,000.00	\$800.00	\$196,000.00
169	5E01ALC	14,500.00	L.F.	Asphalt Concrete Lip Curb	\$7.50	\$108,750.00	\$10.00	\$145,000.00	\$8.00	\$116,000.00	\$8.00	\$116,000.00	\$9.00	\$130,500.00	\$9.00	\$130,500.00	\$7.50	\$108,750.00	\$8.00	\$116,000.00
170	5E02ALC	1	Each	Asphalt Concrete lip Curb Inlet	\$774.89	\$774.89	\$400.00	\$400.00	\$250.00	\$250.00	\$240.00	\$240.00	\$350.00	\$350.00	\$250.00	\$250.00	\$600.00	\$600.00	\$350.00	\$350.00
171	5F00001	2,228.00	L.F.	9" X 16" Concrete Vertical Curb	\$20.09	\$44,760.52	\$21.50	\$47,902.00	\$23.00	\$51,244.00	\$21.00	\$46,788.00	\$26.00	\$57,928.00	\$23.00	\$51,244.00	\$17.00	\$37,876.00	\$20.00	\$44,560.00
172	5F00002	1,732.00	S.Y.	Concrete Island, 4" Thick	\$45.02	\$77,974.64	\$53.00	\$91,796.00	\$55.00	\$95,260.00	\$52.00	\$90,064.00	\$69.00	\$119,508.00	\$55.00	\$95,260.00	\$52.00	\$90,064.00	\$53.00	\$91,796.00
173	5F01VCA	4,214.00	L.F.	Concrete Curb, Type A	\$15.07	\$63,504.98	\$21.00	\$88,494.00	\$24.00	\$101,136.00	\$21.00	\$88,494.00	\$26.00	\$109,564.00	\$23.00	\$96,922.00	\$17.00	\$71,638.00	\$22.00	\$92,708.00
174	5F01VCB	3,473.00	L.F.	Concrete Curb, Type B	\$14.53	\$50,462.69	\$21.00	\$72,933.00	\$23.00	\$79,879.00	\$21.00	\$72,933.00	\$26.00	\$90,298.00	\$23.00	\$79,879.00	\$18.00	\$62,514.00	\$22.00	\$76,406.00
175	5H02CBC	2,052.00	L.F.	15"x41" Concrete Barrier Curb	\$81.62	\$167,484.24	\$54.00	\$110,808.00	\$60.00	\$123,120.00	\$54.00	\$110,808.00	\$142.00	\$291,384.00	\$60.00	\$123,120.00	\$63.00	\$129,276.00	\$53.00	\$108,756.00
176	5H01CMB	2,015.00	L.F.	Concrete Median Barrier, Roadway	\$110.67	\$223,000.05	\$95.00	\$191,425.00	\$100.00	\$201,500.00	\$93.00	\$187,395.00	\$144.00	\$290,160.00	\$100.00	\$201,500.00	\$147.00	\$296,205.00	\$90.00	\$181,350.00
177	5H04CMB	700	L.F.	Concrete Median Barrier, Roadway, Vaiable Height	\$269.57	\$188,699.00	\$130.00	\$91,000.00	\$130.00	\$91,000.00	\$126.00	\$88,200.00	\$162.00	\$113,400.00	\$130.00	\$91,000.00	\$210.00	\$147,000.00	\$150.00	\$105,000.00
178	5H24BCV	1,538.00	L.F.	24" X Variable Height Concrete Barrier Curb	\$203.31	\$312,690.78	\$82.00	\$126,116.00	\$85.00	\$130,730.00	\$80.00	\$123,040.00	\$153.00	\$235,314.00	\$90.00	\$138,420.00	\$100.00	\$153,800.00	\$125.00	\$192,250.00
179	5H00007	160	L.F.	Anchored Concrete Barrier	\$71.07	\$11,371.20	\$160.00	\$25,600.00	\$145.00	\$23,200.00	\$140.00	\$22,400.00	\$345.00	\$55,200.00	\$150.00	\$24,000.00	\$168.00	\$26,880.00	\$150.00	\$24,000.00
180	5100003	735	S.F.	Guide Sign Panels, Type GO	\$18.09	\$13,296.15	\$18.00	\$13,230.00	\$34.00	\$24,990.00	\$33.20	\$24,402.00	\$20.00	\$14,700.00	\$100.00	\$73,500.00	\$34.00	\$24,990.00	\$20.00	\$14,700.00
181	5100009	512	S.F.	Guide Sign, Type GA, Breakaway Supports	\$66.33	\$33,960.96	\$66.00	\$33,792.00	\$14.00	\$7,168.00	\$13.95	\$7,142.40	\$74.00	\$37,888.00	\$70.00	\$35,840.00	\$14.00	\$7,168.00	\$60.00	\$30,720.00
182	5100RGM	40	Each	Removal of Existing Ground- Mounted Sign	\$351.75	\$14,070.00	\$350.00	\$14,000.00	\$50.00	\$2,000.00	\$150.00	\$6,000.00	\$400.00	\$16,000.00	\$380.00	\$15,200.00	\$200.00	\$8,000.00	\$400.00	\$16,000.00
183	5I01SNP	8,076.00	S.F.	Sign Panels	\$18.09	\$146,094.84	\$18.00	\$145,368.00	\$30.00	\$242,280.00		\$215,225.40	\$20.00	\$161,520.00	\$20.00	\$161,520.00	\$31.00	\$250,356.00	\$17.00	\$137,292.00
184	5105SPP	2,214.00	L.F.	U-channel Post	\$16.08	\$35,601.12	\$16.00	\$35,424.00	\$12.00	\$26,568.00	\$12.00	\$26,568.00	\$18.00	\$39,852.00	\$17.50	\$38,745.00	\$12.00	\$26,568.00	\$18.00	\$39,852.00
185	5I11REM	30	Each	Remove Signs	\$100.50	\$3,015.00	\$100.00	\$3,000.00	\$400.00	\$12,000.00	\$375.00	\$11,250.00	\$114.00	\$3,420.00	\$110.00	\$3,300.00	\$350.00	\$10,500.00	\$150.00	\$4,500.00

Base Line	e Item Deta	ail			Earle Asphal	It Company	George Harms (Construction Co.,	D'Annunzio &	Sons, Inc.	Northeast Rems	•	Midlantic Const	ruction, LLC	A. Servidone Inc	,	South S	tate, Inc.	Anselmi and	DeCicco, Inc
186	N5I0002	1,112.00	L.F.	Timber Posts	\$30.15	\$33,526.80	\$30.00	\$33,360.00	\$80.00	\$88,960.00	\$78.00	\$86,736.00	\$34.00	\$37,808.00	\$32.00	\$35,584.00	\$70.00	\$77,840.00	\$35.00	\$38,920.00
187	5J00007	5	Each	Telescoping Guide Rail End Terminal	\$5,217.22	\$26,086.10	\$4,750.00	\$23,750.00	\$5,200.00	\$26,000.00	\$5,192.00	\$25,960.00	\$5,600.00	\$28,000.00	\$5,500.00	\$27,500.00	\$5,000.00	\$25,000.00	\$5,000.00	\$25,000.00
188	5J00FGT	22	Each	Flared Guide Rail Terminal	\$1,691.54	\$37,213.88	\$2,000.00	\$44,000.00	\$1,700.00	\$37,400.00	\$1,684.00	\$37,048.00	\$2,600.00	\$57,200.00	\$1,800.00	\$39,600.00	\$1,700.00	\$37,400.00	\$2,200.00	\$48,400.00
189	5J01PCA	10	Each	Parapet Connection, Type A	\$2,004.62	\$20,046.20	\$1,595.00	\$15,950.00	\$2,000.00	\$20,000.00	\$1,995.00	\$19,950.00	\$1,900.00	\$19,000.00	\$2,200.00	\$22,000.00	\$2,000.00	\$20,000.00	\$1,600.00	\$16,000.00
190	5J01PCB	7	Each	Parapet Connection, Type B	\$86.59	\$606.13	\$150.00	\$1,050.00	\$200.00	\$1,400.00	\$87.00	\$609.00	\$114.00	\$798.00	\$100.00	\$700.00	\$100.00	\$700.00	\$110.00	\$770.00
191	5J01RBG	29,595.00	L.F.	Removal of Beam Guide rail	\$1.27	\$37,585.65	\$0.01	\$295.95	\$2.00	\$59,190.00	\$1.25	\$36,993.75	\$1.00	\$29,595.00	\$1.50	\$44,392.50	\$1.00	\$29,595.00	\$0.10	\$2,959.50
192	5J01RPW	2	Each	Beam Guide Rail Post Weldment	\$264.07	\$528.14	\$250.00	\$500.00	\$270.00	\$540.00	\$263.00	\$526.00	\$290.00	\$580.00	\$280.00	\$560.00	\$250.00	\$500.00	\$300.00	\$600.00
193	5J51TTS	9	Each	Tangent Guide Rail Terminal	\$2,621.06	\$23,589.54	\$2,875.00	\$25,875.00	\$2,700.00	\$24,300.00	\$2,609.00	\$23,481.00	\$3,300.00	\$29,700.00	\$2,800.00	\$25,200.00	\$2,700.00	\$24,300.00	\$3,000.00	\$27,000.00
194	5J52ABG	32	Each	Beam Guide Rail Anchorage	\$654.89	\$20,956.48	\$550.00	\$17,600.00	\$700.00	\$22,400.00	\$652.00	\$20,864.00	\$750.00	\$24,000.00	\$700.00	\$22,400.00	\$675.00	\$21,600.00	\$600.00	\$19,200.00
195	5J52BGD	1,580.00	L.F.	Beam Guide Rail, Dual- Faced	\$21.75	\$34,365.00	\$21.00	\$33,180.00	\$22.00	\$34,760.00	\$22.75	\$35,945.00	\$26.00	\$41,080.00	\$23.00	\$36,340.00	\$22.00	\$34,760.00	\$23.00	\$36,340.00
196	5J52BGR	50,600.00	L.F.	Beam Guide Rail	\$16.10	\$814,660.00	\$14.85	\$751,410.00	\$17.00	\$860,200.00	\$15.90	\$804,540.00	\$20.00	\$1,012,000.00	\$18.00	\$910,800.00	\$17.00	\$860,200.00	\$18.00	\$910,800.00
197	5J53RRS	3,800.00	L.F.	Rub Rail	\$6.27	\$23,826.00	\$6.00	\$22,800.00	\$7.00	\$26,600.00	\$6.25	\$23,750.00	\$8.00	\$30,400.00	\$7.00	\$26,600.00	\$6.00	\$22,800.00	\$6.00	\$22,800.00
198	5J54BGP	65	Each	Beam Guide Rail Post	\$68.61	\$4,459.65	\$75.00	\$4,875.00	\$70.00	\$4,550.00	\$68.30	\$4,439.50	\$57.00	\$3,705.00	\$75.00	\$4,875.00	\$65.00	\$4,225.00	\$55.00	\$3,575.00
199	5J55RGP	9,500.00	L.F.	Reset Beam Guide Rail with Existing Post	\$4.04	\$38,380.00	\$6.50	\$61,750.00	\$5.00	\$47,500.00	\$4.05	\$38,475.00	\$8.00	\$76,000.00	\$4.50	\$42,750.00	\$4.00	\$38,000.00	\$8.00	\$76,000.00
200	5K00001	19,216.00	L.F.	Chain Link Fence, Type II, 84" High	\$17.94	\$344,735.04	\$22.00	\$422,752.00	\$21.00	\$403,536.00	\$21.50	\$413,144.00	\$23.00	\$441,968.00	\$18.00	\$345,888.00	\$25.00	\$480,400.00	\$17.00	\$326,672.00
201	5K00002	6	Each	Vehicular Gate, Type II, 84" High, 12' Wide	\$1,648.20	\$9,889.20	\$1,100.00	\$6,600.00	\$1,200.00	\$7,200.00	\$1,100.00	\$6,600.00	\$1,600.00	\$9,600.00	\$1,700.00	\$10,200.00	\$5,000.00	\$30,000.00	\$1,400.00	\$8,400.00
202	5K01SEC	840	L.F.	Security Fence, Type IV	\$25.02	\$21,016.80	\$72.00	\$60,480.00	\$75.00	\$63,000.00	\$72.00	\$60,480.00	\$72.00	\$60,480.00	\$32.00	\$26,880.00	\$100.00	\$84,000.00	\$65.00	\$54,600.00
203	5K03PGT	3	Each	Pedestrian Gate, Type II, 84" High, 4' Wide	\$884.40	\$2,653.20	\$500.00	\$1,500.00	\$600.00	\$1,800.00	\$500.00	\$1,500.00	\$1,300.00	\$3,900.00	\$1,300.00	\$3,900.00	\$1,300.00	\$3,900.00	\$1,200.00	\$3,600.00
204	5L01MON	37	Each	Concrete Monuments	\$562.50	\$20,812.50	\$675.00	\$24,975.00	\$500.00	\$18,500.00	\$400.00	\$14,800.00	\$344.00	\$12,728.00	\$340.00	\$12,580.00	\$425.00	\$15,725.00	\$700.00	\$25,900.00
205	5N04PCS	90	S.Y.	Concrete Sidewalk, 4" Thick	\$43.33	\$3,899.70	\$65.00	\$5,850.00	\$65.00	\$5,850.00	\$64.00	\$5,760.00	\$67.00	\$6,030.00	\$70.00	\$6,300.00	\$73.00	\$6,570.00	\$70.00	\$6,300.00
206	5N00003	70	S.Y.	Detectable Warning Surface	\$202.50	\$14,175.00	\$200.00	\$14,000.00	\$200.00	\$14,000.00	\$197.00	\$13,790.00	\$113.00	\$7,910.00	\$200.00	\$14,000.00	\$210.00	\$14,700.00	\$200.00	\$14,000.00
207	5001CAW	5	Each	Delineator, Type CA-W	\$40.20	\$201.00	\$40.00	\$200.00	\$65.00	\$325.00	\$63.00	\$315.00	\$51.00	\$255.00	\$50.00	\$250.00	\$65.00	\$325.00	\$50.00	\$250.00
208	5001CAY	12	Each	Delineator, Type CA-Y	\$40.20	\$482.40	\$40.00	\$480.00	\$65.00	\$780.00	\$63.00	\$756.00	\$51.00	\$612.00	\$50.00	\$600.00	\$65.00	\$780.00	\$50.00	\$600.00
209	5001PAR	12	Each	Delineator, Type PA-R	\$40.20	\$482.40	\$40.00	\$480.00	\$45.00	\$540.00	\$41.00	\$492.00	\$51.00	\$612.00	\$50.00	\$600.00	\$65.00	\$780.00	\$50.00	\$600.00
210	5001PAW	296	Each	Delineator, Type PA-W	\$40.20	\$11,899.20	\$40.00	\$11,840.00	\$45.00	\$13,320.00	\$41.00	\$12,136.00	\$51.00	\$15,096.00	\$50.00	\$14,800.00	\$65.00	\$19,240.00	\$50.00	\$14,800.00
211	5001PAY	259	Each	Delineator, Type PA-Y	\$40.20	\$10,411.80	\$40.00	\$10,360.00	\$45.00	\$11,655.00	\$41.00	\$10,619.00	\$51.00	\$13,209.00	\$50.00	\$12,950.00	\$65.00	\$16,835.00	\$50.00	\$12,950.00
212	5001UTN	9	Each	Delineator, Type U-Turn	\$40.20	\$361.80	\$40.00	\$360.00	\$35.00	\$315.00	\$35.00	\$315.00	\$51.00	\$459.00	\$40.00	\$360.00	\$65.00	\$585.00	\$50.00	\$450.00
213	5P01CMT	632	L.F.	Preformed Contrast Marking Tape	\$5.48	\$3,463.36	\$5.75	\$3,634.00	\$6.00	\$3,792.00	\$5.50	\$3,476.00	\$6.00	\$3,792.00	\$6.00	\$3,792.00	\$5.00	\$3,160.00	\$10.00	\$6,320.00
214	5P01DMG	632	L.F.	Diamond Grinding	\$2.21	\$1,396.72	\$1.55	\$979.60	\$2.00	\$1,264.00	\$1.50	\$948.00	\$2.00	\$1,264.00	\$2.00	\$1,264.00	\$2.00	\$1,264.00	\$20.00	\$12,640.00
215	5P20LLS	76,430.00	L.F.	Traffic Stripes, Long - Life, Epoxy Resin	\$0.33	\$25,221.90	\$0.35	\$26,750.50	\$0.35	\$26,750.50	\$0.32	\$24,457.60	\$0.50	\$38,215.00	\$0.40	\$30,572.00	\$0.35	\$26,750.50	\$0.60	\$45,858.00
216	5P21LLS	301,050.00	L.F.	Traffic Stripes, Long - Life, thermoplastic	\$0.60	\$180,630.00	\$0.60	\$180,630.00	\$0.60	\$180,630.00	\$0.55	\$165,577.50	\$0.70	\$210,735.00	\$0.75	\$225,787.50	\$0.60	\$180,630.00	\$0.80	\$240,840.00

Base Lin	e Item Deta	nil			Earle Aspha	ılt Company	George Harms (Construction Co.,	D'Annunzio &	Sons, Inc.	Northeast Rems		Midlantic Consti	ruction, LLC	A. Servidone Inc		South S	tate, Inc.	Anselmi and	DeCicco, Inc
217	5P31LLM	11,875.00	L.F.	Traffic Markings, Lines, Long - Life, Thermoplastic	\$0.72	\$8,550.00	\$0.65	\$7,718.75	\$0.65	\$7,718.75	\$0.60	\$7,125.00	\$0.70	\$8,312.50	\$0.75	\$8,906.25	\$0.75	\$8,906.25	\$0.80	\$9,500.00
218	5P33LLM	1,524.00	S.F.	Traffic Markings, Symbols, Long - Life, Thermoplastic	\$5.63	\$8,580.12	\$5.25	\$8,001.00	\$6.00	\$9,144.00	\$5.00	\$7,620.00	\$6.00	\$9,144.00	\$6.00	\$9,144.00	\$5.50	\$8,382.00	\$8.00	\$12,192.00
219	5Q01FOD	1	L.S.	Furnish Field Office, Type D	\$11,481.13	\$11,481.13	\$135,000.00	\$135,000.00	\$150,000.00	\$150,000.00	\$175,000.00	\$175,000.00	\$35,000.00	\$35,000.00	\$300,000.00	\$300,000.00	\$45,000.00	\$45,000.00	\$100,000.00	\$100,000.00
220	5Q02MFD	28	Month	Maintain Field Office, Type D	\$3,206.25	\$89,775.00	\$5,900.00	\$165,200.00	\$2,300.00	\$64,400.00	\$5,000.00	\$140,000.00	\$4,600.00	\$128,800.00	\$7,500.00	\$210,000.00	\$3,500.00	\$98,000.00	\$4,000.00	\$112,000.00
221	5U01CAN	1	L.S.	Canopy	\$143,149.13	\$143,149.13	\$200,000.00	\$200,000.00	\$80,000.00	\$80,000.00	\$130,000.00	\$130,000.00	\$78,000.00	\$78,000.00	\$150,000.00	\$150,000.00	\$62,000.00	\$62,000.00	\$75,000.00	\$75,000.00
222	5V01PIT	30	Each	Test Pits	\$219.98	\$6,599.40	\$750.00	\$22,500.00	\$700.00	\$21,000.00	\$600.00	\$18,000.00	\$750.00	\$22,500.00	\$600.00	\$18,000.00	\$500.00	\$15,000.00	\$1,500.00	\$45,000.00
223	5X43Q1A	1	Each	Quadguard Impact Attenuator, 4 Bays, 36" Wide	\$19,848.75	\$19,848.75	\$17,000.00	\$17,000.00	\$25,000.00	\$25,000.00	\$17,000.00	\$17,000.00	\$23,000.00	\$23,000.00	\$25,000.00	\$25,000.00	\$28,000.00	\$28,000.00	\$27,000.00	\$27,000.00
224	5X00PRA	10	Each	Placing and Removing Temporary Impact Attenuator, Quadguard	\$3,351.11	\$33,511.10	\$5,100.00	\$51,000.00	\$2,000.00	\$20,000.00	\$4,300.00	\$43,000.00	\$3,500.00	\$35,000.00	\$1,000.00	\$10,000.00	\$3,300.00	\$33,000.00	\$6,000.00	\$60,000.00
225	5X00RPR	4	Each	Repair Temporary Impact Attenuator, Quadguard	\$2,327.58	\$9,310.32	\$3,500.00	\$14,000.00	\$2,000.00	\$8,000.00	\$1,200.00	\$4,800.00	\$0.01	\$0.04	\$3,000.00	\$12,000.00	\$5,000.00	\$20,000.00	\$10,000.00	\$40,000.00
226	5X02FTA	4	Each	FURNISHING TEMPORARY IMPACT ATTENUATOR, QUADGUARD, 9 BAYS, 24" WIDE	\$31,356.00	\$125,424.00	\$7,550.00	\$30,200.00	\$25,000.00	\$100,000.00	\$2,000.00	\$8,000.00	\$0.01	\$0.04	\$7,500.00	\$30,000.00	\$5,800.00	\$23,200.00	\$35,000.00	\$140,000.00
227	5X03FTA	4	Each	Furnishing Temporary Impact Attenuator, Quadguard, 4 Bays, 24" Wide	\$16,482.00	\$65,928.00	\$4,600.00	\$18,400.00	\$15,000.00	\$60,000.00	\$2,000.00	\$8,000.00	\$29,000.00	\$116,000.00	\$5,000.00	\$20,000.00	\$8,600.00	\$34,400.00	\$20,000.00	\$80,000.00
228	5Y01MRC	4	Each	Mile Marker, Type RC	\$75.38	\$301.52	\$75.00	\$300.00	\$60.00	\$240.00	\$60.00	\$240.00	\$86.00	\$344.00	\$80.00	\$320.00	\$65.00	\$260.00	\$80.00	\$320.00
229	5Y01MRP	35	Each	Mile Marker, Type RP	\$90.45	\$3,165.75	\$90.00	\$3,150.00	\$75.00	\$2,625.00	\$72.00	\$2,520.00	\$86.00	\$3,010.00	\$80.00	\$2,800.00	\$65.00	\$2,275.00	\$80.00	\$2,800.00
230	5ZD01RPM	2,550.00	Each	Raised Pavement Markers	\$22.07	\$56,278.50	\$25.00	\$63,750.00	\$24.00	\$61,200.00	\$23.50	\$59,925.00	\$27.00	\$68,850.00	\$25.00	\$63,750.00	\$23.00	\$58,650.00	\$25.00	\$63,750.00
231	5ZD04RPM	400	Each	Removal of Raised Pavement Markers	\$7.93	\$3,172.00	\$7.00	\$2,800.00	\$20.00	\$8,000.00	\$28.37	\$11,348.00	\$4.00	\$1,600.00	\$6.00	\$2,400.00	\$0.01	\$4.00	\$10.00	\$4,000.00
232	5ZD06RPM	276	Each	Raised Pavement Markers, Mono-Directional, White Lens	\$22.07	\$6,091.32	\$25.00	\$6,900.00	\$24.00	\$6,624.00	\$23.50	\$6,486.00	\$27.00	\$7,452.00	\$25.00	\$6,900.00	\$23.00	\$6,348.00	\$20.00	\$5,520.00
233	5ZD08RPM	150	Each	Raised Pavement Markers, Mono-Directional, Amber Lens	\$22.07	\$3,310.50	\$25.00	\$3,750.00	\$24.00	\$3,600.00	\$23.50	\$3,525.00	\$27.00	\$4,050.00	\$25.00	\$3,750.00	\$23.00	\$3,450.00	\$10.00	\$1,500.00
234	5ZL0022	1	Each	Manufactured Treatment Devices, Type 1	\$57,921.12	\$57,921.12	\$55,000.00	\$55,000.00	\$100,000.00	\$100,000.00	\$59,000.00	\$59,000.00	\$13,000.00	\$13,000.00	\$50,000.00	\$50,000.00	\$87,000.00	\$87,000.00	\$55,000.00	\$55,000.00
235	5ZL0023	1	Each	Manufactured Treatment Devices, Type 2	\$57,921.12	\$57,921.12	\$55,000.00	\$55,000.00	\$100,000.00	\$100,000.00	\$59,000.00	\$59,000.00	\$13,000.00	\$13,000.00	\$50,000.00	\$50,000.00	\$87,000.00	\$87,000.00	\$60,000.00	\$60,000.00
236	5ZL0024	1	Each	Manufactured Treatment Devices, Type 3	\$57,921.12	\$57,921.12	\$55,000.00	\$55,000.00	\$105,000.00	\$105,000.00	\$59,000.00	\$59,000.00	\$14,000.00	\$14,000.00	\$50,000.00	\$50,000.00	\$87,000.00	\$87,000.00	\$55,000.00	\$55,000.00
237	5ZL0025	1	Each	Manufactured Treatment Devices, Type 4	\$37,671.12	\$37,671.12	\$35,000.00	\$35,000.00	\$80,000.00	\$80,000.00	\$39,000.00	\$39,000.00	\$14,000.00	\$14,000.00	\$30,000.00	\$30,000.00	\$65,000.00	\$65,000.00	\$35,000.00	\$35,000.00

Base Line	Item Deta	ail			Earle Aspha	alt Company	George Harms (D'Annunzio &	Sons, Inc.	Northeast Rems	sco Construction, nc.	Midlantic Con	struction, LLC		c and B. Anthony Corp JV	South S	tate, Inc.	Anselmi and D	eCicco, Inc
238	5ZL0026	1	Each	Manufactured Treatment Devices, Type 5	\$37,671.12	\$37,671.12	\$35,000.00	\$35,000.00	\$90,000.00	\$90,000.00	\$39,000.00	\$39,000.00	\$14,000.00	\$14,000.00	\$30,000.00	\$30,000.00	\$65,000.00	\$65,000.00	\$35,000.00	\$35,000.00
239	5ZL0051	1	Each	Manufactured Treatment Devices, Type 6	\$32,046.12	\$32,046.12	\$26,000.00	\$26,000.00	\$65,000.00	\$65,000.00	\$33,000.00	\$33,000.00	\$13,000.00	\$13,000.00	\$25,000.00	\$25,000.00	\$60,000.00	\$60,000.00	\$25,000.00	\$25,000.00
240	5ZL0052	1	Each	Manufactured Treatment Devices, Type 7	\$37,671.12	\$37,671.12	\$35,000.00	\$35,000.00	\$90,000.00	\$90,000.00	\$42,000.00	\$42,000.00	\$14,000.00	\$14,000.00	\$30,000.00	\$30,000.00	\$87,000.00	\$87,000.00	\$35,000.00	\$35,000.00
241	5ZL0053	1	Each	Manufactured Treatment Devices, Type 8	\$32,046.12	\$32,046.12	\$26,000.00	\$26,000.00	\$60,000.00	\$60,000.00	\$31,000.00	\$31,000.00	\$14,000.00	\$14,000.00	\$25,000.00	\$25,000.00	\$56,000.00	\$56,000.00	\$30,000.00	\$30,000.00
242	5ZL0054	1	Each	Manufactured Treatment Devices, Type 9	\$32,046.12	\$32,046.12	\$26,000.00	\$26,000.00	\$60,000.00	\$60,000.00	\$30,000.00	\$30,000.00	\$13,000.00	\$13,000.00	\$25,000.00	\$25,000.00	\$56,000.00	\$56,000.00	\$30,000.00	\$30,000.00
243	5ZL0055	1	Each	Manufactured Treatment Devices, Type 10	\$32,046.12	\$32,046.12	\$26,000.00	\$26,000.00	\$60,000.00	\$60,000.00	\$30,000.00	\$30,000.00	\$21,000.00	\$21,000.00	\$25,000.00	\$25,000.00	\$56,000.00	\$56,000.00	\$30,000.00	\$30,000.00
244	5ZL0056	1	Each	Manufactured Treatment Devices, Type 11	\$32,046.12	\$32,046.12	\$26,000.00	\$26,000.00	\$60,000.00	\$60,000.00	\$31,000.00	\$31,000.00	\$14,000.00	\$14,000.00	\$25,000.00	\$25,000.00	\$56,000.00	\$56,000.00	\$30,000.00	\$30,000.00
245	5ZL0057	1	Each	Manufactured Treatment Devices, Type 12	\$37,671.12	\$37,671.12	\$35,000.00	\$35,000.00	\$80,000.00	\$80,000.00	\$41,000.00	\$41,000.00	\$13,000.00	\$13,000.00	\$30,000.00	\$30,000.00	\$68,000.00	\$68,000.00	\$35,000.00	\$35,000.00
246	5ZL0226	1	Each	Manufactured Treatment Device, Type 13	\$32,046.12	\$32,046.12	\$25,000.00	\$25,000.00	\$70,000.00	\$70,000.00	\$33,000.00	\$33,000.00	\$13,000.00	\$13,000.00	\$25,000.00	\$25,000.00	\$60,000.00	\$60,000.00	\$30,000.00	\$30,000.00
247	5ZL0098	1	L.S.	Utility Relocation, Water	\$15,602.42	\$15,602.42	\$25,000.00	\$25,000.00	\$15,000.00	\$15,000.00	\$20,000.00	\$20,000.00	\$31,000.00	\$31,000.00	\$7,000.00	\$7,000.00	\$25,000.00	\$25,000.00	\$15,000.00	\$15,000.00
248	5ZL0099	1	L.S.	Utility Relocation, Sanitary Sewer	\$1.13	\$1.13	\$6,000.00	\$6,000.00	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00	\$9,000.00	\$9,000.00	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00
249	5ZL0042	3	Each	Telephone Manhole	\$18,894.00	\$56,682.00	\$10,000.00	\$30,000.00	\$13,500.00	\$40,500.00	\$18,800.00	\$56,400.00	\$22,000.00	\$66,000.00	\$14,000.00	\$42,000.00	\$20,000.00	\$60,000.00	\$20,000.00	\$60,000.00
250	5ZL0122	4	Each	4' x 4' x 4' Cable TV Manhole 4-4" Cable TV PVC	\$4,020.00	\$16,080.00	\$3,400.00	\$13,600.00	\$12,500.00	\$50,000.00	\$4,000.00	\$16,000.00	\$5,000.00	\$20,000.00	\$13,000.00	\$52,000.00	\$4,000.00	\$16,000.00	\$5,000.00	\$20,000.00
251	5ZL0125	6,780.00	L.F.	Conduits (Encased in Concrete	\$17.59	\$119,260.20	\$16.00	\$108,480.00	\$18.00	\$122,040.00	\$17.63	\$119,531.40	\$19.99	\$135,532.20	\$14.00	\$94,920.00	\$18.00	\$122,040.00	\$17.00	\$115,260.00
252	5ZL0164	5,392.00	L.F.	4-4" Telephone Duct Bank, PVC	\$14.47	\$78,022.24	\$9.65	\$52,032.80	\$14.00	\$75,488.00	\$14.40	\$77,644.80	\$16.00	\$86,272.00	\$25.00	\$134,800.00	\$15.00	\$80,880.00	\$15.00	\$80,880.00
253	5ZL0189	1	L.S.	Relocation of JCP&L Electrical Facilities - Distribution Only	\$869,626.50	\$869,626.50	\$1,108,864.57	\$1,108,864.57	\$1,100,000.00	\$1,100,000.00	\$1,033,000.00	\$1,033,000.00	\$1,187,000.00	\$1,187,000.00	\$900,000.00	\$900,000.00	\$1,100,000.00	\$1,100,000.00	\$1,000,000.00	\$1,000,000.00
254	5ZL0227	1	L.S.	Relocation of JCP&L Electrical Facilities - Transmission Only	\$1,534,220.94	\$1,534,220.94	\$1,657,569.25	\$1,657,569.25	\$1,550,000.00	\$1,550,000.00	\$1,526,588.00	\$1,526,588.00	\$1,754,000.00	\$1,754,000.00	\$1,500,000.00	\$1,500,000.00	\$1,600,000.00	\$1,600,000.00	\$1,500,000.00	\$1,500,000.00
255	5ZL0228	1	L.S.	Construction of Telephone/Cable Temporary Pole Line	\$502,500.00	\$502,500.00	\$25,000.00	\$25,000.00	\$30,000.00	\$30,000.00	\$218,000.00	\$218,000.00	\$250,000.00	\$250,000.00	\$30,000.00	\$30,000.00	\$21,000.00	\$21,000.00	\$75,000.00	\$75,000.00
256	5ZO0024	1	L.S.	As-Built Plans	\$5,025.00	\$5,025.00	\$10,000.00	\$10,000.00	\$6,000.00	\$6,000.00	\$2,500.00	\$2,500.00	\$28,000.00	\$28,000.00	\$6,000.00	\$6,000.00	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00

Base Line	e Item Deta	ail			Earle Aspha	It Company	George Harms (Construction Co.,	D'Annunzio & S	Sons, Inc.	Northeast Rems		Midlantic Constr	uction, LLC	A. Servidone Inc	c and B. Anthony	South S	tate, Inc.	Anselmi and	DeCicco, Inc
257	5ZM01FAS	1	C.P.	Force Account For Snow Removal. (This is a NO-BID, Lump Sum item for this contract. The Lump Sum price is \$52,000. Enter a Unit Price of \$52,000 as your bid for this item.)	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00
258	5ZM01ERR	1	C.P.	Force Account for Emergency & Routine Roadway and Bridge Repairs (This is a NO-BID, Cost-Plus item for this contract. The Cost-Plus price is \$100,000. Enter a Unit Price of \$100,000 as your bid for this item.)	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
260	5ZO0019	1	L.S.	Environmental Health and Safety Plans	\$35,175.00	\$35,175.00	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00	\$2,500.00	\$2,500.00	\$11,000.00	\$11,000.00	\$6,000.00	\$6,000.00	\$5,000.00	\$5,000.00	\$12,500.00	\$12,500.00
261	5ZO0127	1	L.S.	Lead and Asbestos Survey, Report and Monitoring (This is a NO-BID, Lump Sum item for this contract. The Lump Sum price is \$50,000. Enter a Unit Price of \$50,000 as your bid for this item.)	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
262	5ZO0042	1	L.S.	Removal of Asbestos (This is a NO-BID, Lump Sum item for this contract. The Lump Sum price is \$25,000. Enter a Unit Price of \$25,000 as your bid for item.)	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00
263	5ZO01TNK	1	Each	Tank Cleaning	\$2,512.50	\$2,512.50	\$2,400.00	\$2,400.00	\$1,500.00	\$1,500.00	\$5,000.00	\$5,000.00	\$1,200.00	\$1,200.00	\$15,000.00	\$15,000.00	\$1,000.00	\$1,000.00	\$2,500.00	\$2,500.00
264	5ZO02TNK	1	Each	Tank Decontamination	\$2,512.50	\$2,512.50	\$8,500.00	\$8,500.00	\$3,000.00	\$3,000.00	\$10,000.00	\$10,000.00	\$1,200.00	\$1,200.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00
265	5ZO05TNK	2	Month	Tank Rental	\$3,517.50	\$7,035.00	\$2,650.00		\$2,000.00	\$4,000.00	\$500.00	\$1,000.00	\$2,300.00	\$4,600.00	\$1,500.00	\$3,000.00	\$1,300.00	\$2,600.00	\$10,000.00	\$20,000.00
266	5ZO0025 5ZO06TNK	2	Month Each	Oil Water Separato Tank Movement	\$6,532.50 \$251.25	\$13,065.00 \$502.50	\$23,100.00 \$500.00		\$3,500.00 \$1,500.00	\$7,000.00 \$3,000.00	\$800.00 \$2,500.00	\$1,600.00 \$5,000.00	\$2,300.00 \$2,300.00	\$4,600.00 \$4,600.00	\$2,500.00 \$500.00	\$5,000.00 \$1,000.00	\$10,000.00 \$5,500.00	\$20,000.00 \$11,000.00	\$1,000.00 \$1,000.00	\$2,000.00
268	5Z006TNK	2	Each	Tank Movement Tank Draining - Sanitary System	\$351.75	\$703.50	\$16,500.00		\$2,000.00	\$4,000.00	\$1,500.00	\$3,000.00	\$2,300.00	\$4,600.00	\$1,200.00	\$2,400.00	\$5,500.00	\$11,000.00	\$1,000.00	\$2,000.00
269	5ZZ43GR	4	Each	Controlled Release Terminal Anchorages	\$1,153.18	\$4,612.72	\$500.00	\$2,000.00	\$1,200.00	\$4,800.00	\$1,150.00	\$4,600.00	\$575.00	\$2,300.00	\$1,250.00	\$5,000.00	\$1,200.00	\$4,800.00	\$600.00	\$2,400.00
270	5ZZ65GR	4	Each	Controlled Release Terminal	\$1,259.76	\$5,039.04	\$750.00	\$3,000.00	\$1,300.00	\$5,200.00	\$1,250.00	\$5,000.00	\$860.00	\$3,440.00	\$1,350.00	\$5,400.00	\$1,300.00	\$5,200.00	\$800.00	\$3,200.00

Base Line	e Item Deta	nil			Earle Asphal	It Company	George Harms C	Construction Co.,	D'Annunzio &	Sons, Inc.	Northeast Remse	·	Midlantic Constr	ruction, LLC	A. Servidone Inc		South S	State, Inc.	Anselmi and	DeCicco, Inc
271	6A00080	2	Each	Foundation, Type MC	\$1,894.43	\$3,788.86	\$1,850.00	\$3,700.00	\$2,600.00	\$5,200.00	\$1,885.00	\$3,770.00	\$2,870.00	\$5,740.00	\$2,700.00	\$5,400.00	\$2,250.00	\$4,500.00	\$3,000.00	\$6,000.00
272	6A00126	2	Each	Foundation, Type LC	\$3,401.93	\$6,803.86	\$1,800.00	\$3,600.00	\$3,600.00	\$7,200.00	\$3,385.00	\$6,770.00	\$4,020.00	\$8,040.00	\$3,800.00	\$7,600.00	\$3,400.00	\$6,800.00	\$4,000.00	\$8,000.00
273	6A00118	13	Each	18" x 36" Junction Boxes	\$1,658.25	\$21,557.25	\$1,475.00	\$19,175.00	\$1,900.00	\$24,700.00	\$1,650.00	\$21,450.00	\$2,068.00	\$26,884.00	\$2,000.00	\$26,000.00	\$1,700.00	\$22,100.00	\$2,000.00	\$26,000.00
274	6A00120	1	Each	Meter Cabinet, Type T	\$1,547.70	\$1,547.70	\$1,672.00	\$1,672.00	\$2,500.00	\$2,500.00	\$1,540.00	\$1,540.00	\$2,800.00	\$2,800.00	\$2,600.00	\$2,600.00	\$3,800.00	\$3,800.00	\$2,500.00	\$2,500.00
275	6A02MLC	156,000.00	L.F.	#2 A.W.G. Multiple Lighting Cable	\$2.96	\$461,760.00	\$3.00	\$468,000.00	\$4.00	\$624,000.00	\$3.95	\$616,200.00	\$4.00	\$624,000.00	\$4.25	\$663,000.00	\$3.75	\$585,000.00	\$4.00	\$624,000.00
276	6A02RMU	120	L.F.	2" Rigid Metallic Conduit, Underground	\$22.61	\$2,713.20	\$27.00	\$3,240.00	\$32.00	\$3,840.00	\$22.50	\$2,700.00	\$34.00	\$4,080.00	\$32.00	\$3,840.00	\$28.00	\$3,360.00	\$28.00	\$3,360.00
277	6A03RMS	2,600.00	L.F.	3" Rigid Metallic Conduit, on Structures	\$31.56	\$82,056.00	\$32.00	\$83,200.00	\$28.00	\$72,800.00	\$31.40	\$81,640.00	\$31.00	\$80,600.00	\$30.00	\$78,000.00	\$26.00	\$67,600.00	\$28.00	\$72,800.00
278	6A03RMU	1,000.00	L.F.	3" Rigid Metallic Conduit, Underground	\$45.63	\$45,630.00	\$33.20	\$33,200.00	\$33.00	\$33,000.00	\$45.40	\$45,400.00	\$37.00	\$37,000.00	\$35.00	\$35,000.00	\$47.00	\$47,000.00	\$33.00	\$33,000.00
279	6A03RNC	37,000.00	L.F.	3" Rigid Nonmetallic Conduit, PVC-(Schedule 40)	\$17.09	\$632,330.00	\$10.75	\$397,750.00	\$11.00	\$407,000.00	\$10.00	\$370,000.00	\$11.00	\$407,000.00	\$11.00	\$407,000.00	\$10.00	\$370,000.00	\$9.00	\$333,000.00
280	6A05RMS	40	L.F.	1½" Rigid Metallic Conduit on Structures	\$81.41	\$3,256.40	\$82.00	\$3,280.00	\$46.00	\$1,840.00	\$81.00	\$3,240.00	\$51.00	\$2,040.00	\$48.00	\$1,920.00	\$26.00	\$1,040.00	\$50.00	\$2,000.00
281	6A06SVC	485	L.F.	#6 A.W.G. Service Cable (600V)	\$3.52	\$1,707.20	\$3.50	\$1,697.50	\$4.00	\$1,940.00	\$3.50	\$1,697.50	\$4.00	\$1,940.00	\$3.80	\$1,843.00	\$3.00	\$1,455.00	\$4.00	\$1,940.00
282	6A08GWR	39,000.00	L.F.	#8 A.W.G. Ground Wire	\$1.61	\$62,790.00	\$1.60	\$62,400.00	\$1.80	\$70,200.00	\$1.60	\$62,400.00	\$2.00	\$78,000.00	\$1.60	\$62,400.00	\$2.00	\$78,000.00	\$2.00	\$78,000.00
283	6A08MLC	4,160.00	L.F.	#8 A.W.G. Multiple Lighting Cable	\$2.01	\$8,361.60	\$2.00	\$8,320.00	\$3.00	\$12,480.00	\$2.00	\$8,320.00	\$3.00	\$12,480.00	\$3.00	\$12,480.00	\$2.00	\$8,320.00	\$3.00	\$12,480.00
284	6A13RNC	3,000.00	L.F.	3" Rigid Nonmetallic Conduit, PVC-(Schedule 80)	\$17.59	\$52,770.00	\$19.50	\$58,500.00	\$28.00	\$84,000.00	\$17.50	\$52,500.00	\$31.00	\$93,000.00	\$30.00	\$90,000.00	\$27.00	\$81,000.00	\$25.00	\$75,000.00
285	6A21JF1	229	Each	Junction Box Foundation, Type 1	\$2,824.05	\$646,707.45	\$2,675.00	\$612,575.00	\$2,600.00	\$595,400.00	\$2,500.00	\$572,500.00	\$2,800.00	\$641,200.00	\$2,700.00	\$618,300.00	\$2,500.00	\$572,500.00	\$2,200.00	\$503,800.00
286	6A24JBC	61	Each	Junction Box, Type C	\$2,381.85	\$145,292.85	\$2,025.00	\$123,525.00	\$2,300.00	\$140,300.00	\$2,370.00	\$144,570.00	\$2,500.00	\$152,500.00	\$2,400.00	\$146,400.00	\$2,000.00	\$122,000.00	\$2,250.00	\$137,250.00
287	6A65RAS	1	Lump	Remove and Salvage Existing Facilities	\$135,675.00	\$135,675.00	\$150,000.00	\$150,000.00	\$60,000.00	\$60,000.00	\$135,000.00	\$135,000.00	\$55,000.00	\$55,000.00	\$54,000.00	\$54,000.00	\$400,000.00	\$400,000.00	\$45,000.00	\$45,000.00
288	6A25JBD	19	Each	Junction Box, Type D	\$1,286.40	\$24,441.60	\$730.00	\$13,870.00	\$1,300.00	\$24,700.00	\$1,280.00	\$24,320.00	\$1,300.00	\$24,700.00	\$1,300.00	\$24,700.00	\$1,100.00	\$20,900.00	\$1,300.00	\$24,700.00
289	6B00027	2	Each	Load Center Cabinet, Type F, Voltage 277/480V	\$22,512.00	\$45,024.00	\$22,400.00	\$44,800.00	\$16,000.00	\$32,000.00	\$22,400.00	\$44,800.00	\$1,700.00	\$3,400.00	\$16,000.00	\$32,000.00	\$14,000.00	\$28,000.00	\$16,000.00	\$32,000.00
290	6B00028	2	Each	Meter Cabinet, Type F, Voltage 277/480V	\$4,120.50	\$8,241.00	\$4,100.00	\$8,200.00	\$6,000.00	\$12,000.00	\$4,100.00	\$8,200.00	\$6,300.00	\$12,600.00	\$6,000.00	\$12,000.00	\$5,500.00	\$11,000.00	\$5,000.00	\$10,000.00
291	6B00048	6	Each	Type P2 Luminaire, 100W	\$1,165.80	\$6,994.80	\$1,160.00	\$6,960.00	\$1,700.00	\$10,200.00	\$1,160.00	\$6,960.00	\$1,800.00	\$10,800.00	\$1,750.00	\$10,500.00	\$1,150.00	\$6,900.00	\$1,500.00	\$9,000.00
292	6B00051	4	Each	Type P4 Luminaire, 150W	\$1,115.55	\$4,462.20	\$1,110.00	\$4,440.00	\$1,700.00	\$6,800.00	\$1,110.00	\$4,440.00	\$1,900.00	\$7,600.00	\$1,800.00	\$7,200.00	\$1,200.00	\$4,800.00	\$1,600.00	\$6,400.00
293	6B15LMGS	4	Each	Lighting Standard, Type L- MG-40-SB	\$2,256.23	\$9,024.92	\$2,245.00	\$8,980.00	\$2,200.00	\$8,800.00	\$2,245.00	\$8,980.00	\$2,400.00	\$9,600.00	\$2,300.00	\$9,200.00	\$2,300.00	\$9,200.00	\$2,000.00	\$8,000.00
294	6B26LMG	147	Each	Lighting Standard, Type L- MG-26	\$1,924.58	\$282,913.26	\$1,915.00	\$281,505.00	\$1,900.00	\$279,300.00	\$1,800.00	\$264,600.00	\$2,100.00	\$308,700.00	\$2,000.00	\$294,000.00	\$2,450.00	\$360,150.00	\$1,850.00	\$271,950.00
295	6B45LMG	86	Each	Lighting Standard, Type L- MG-40	\$2,522.55	\$216,939.30	\$2,510.00	\$215,860.00	\$2,300.00	\$197,800.00	\$2,200.00	\$189,200.00	\$2,500.00	\$215,000.00	\$2,400.00	\$206,400.00	\$2,900.00	\$249,400.00	\$2,100.00	\$180,600.00

Base Line	e Item Detai	il			Earle Aspha	alt Company	George Harms C		D'Annunzio	& Sons, Inc.	Northeast Remsco	•	Midlantic Cor	nstruction, LLC	A. Servidone Inc a		South St	rate, Inc.	Anselmi and D	DeCicco, Inc
296	6B00110	92	Each	Type LP1 Luminaire	\$1,130.63	\$104,017.96	\$1,125.00	\$103,500.00	\$1,400.00	\$128,800.00	lnc. \$1,125.00	\$103,500.00	\$1,400.00	\$128,800.00	\$1,400.00	\$128,800.00	\$1,200.00	\$110,400.00	\$1,200.00	\$110,400.00
297	6B00111	49	Each	Type LP2 Luminaire	\$1,246.20	\$61,063.80	\$1,240.00	\$60,760.00	\$1,500.00	\$73,500.00	\$1,240.00	\$60,760.00	\$1,500.00	\$73,500.00	\$1,500.00	\$73,500.00	\$1,300.00	\$63,700.00	\$1,300.00	\$63,700.00
298	6B00112	60	Each	Type LP5 Luminaire	\$1,894.43	\$113,665.80	\$1,885.00	\$113,100.00	\$2,200.00	\$132,000.00	\$1,885.00	\$113,100.00	\$2,400.00	\$144,000.00	\$2,300.00	\$138,000.00	\$2,200.00	\$132,000.00	\$2,000.00	\$120,000.00
299	6B00113	10	Each	Type LP6 Luminaire	\$2,256.23	\$22,562.30	\$2,245.00	\$22,450.00	\$2,600.00	\$26,000.00	\$2,245.00	\$22,450.00	\$2,800.00	\$28,000.00	\$2,700.00	\$27,000.00	\$2,600.00	\$26,000.00	\$2,400.00	\$24,000.00
300	6B00114	20	Each	Type LP7 Luminaire	\$2,542.65	\$50,853.00	\$2,530.00	\$50,600.00	\$2,900.00	\$58,000.00	\$2,530.00	\$50,600.00	\$3,200.00	\$64,000.00	\$3,000.00	\$60,000.00	\$3,000.00	\$60,000.00	\$2,700.00	\$54,000.00
301	6H00006	6	Each	Image Detector	\$4,914.45	\$29,486.70	\$4,890.00	\$29,340.00	\$5,300.00	\$31,800.00	\$4,890.00	\$29,340.00	\$5,900.00	\$35,400.00	\$5,500.00	\$33,000.00	\$7,200.00	\$43,200.00	\$5,000.00	\$30,000.00
302	6H000PB	6	Each	Push Button	\$216.08	\$1,296.48	\$215.00	\$1,290.00	\$300.00	\$1,800.00	\$215.00	\$1,290.00	\$280.00	\$1,680.00	\$270.00	\$1,620.00	\$125.00	\$750.00	\$500.00	\$3,000.00
303	6H00PSH	16	Each	Pedestrian Signal Head	\$919.58	\$14,713.28	\$915.00	\$14,640.00	\$1,100.00	\$17,600.00	\$915.00	\$14,640.00	\$1,100.00	\$17,600.00	\$1,100.00	\$17,600.00	\$700.00	\$11,200.00	\$1,000.00	\$16,000.00
304	6H00SFK	1	Each	Foundation, Type SFK	\$1,567.80	\$1,567.80	\$2,200.00	\$2,200.00	\$1,900.00	\$1,900.00	\$1,560.00	\$1,560.00	\$2,100.00	\$2,100.00	\$2,000.00	\$2,000.00	\$1,800.00	\$1,800.00	\$2,000.00	\$2,000.00
305	6H00SFT	3	Each	Foundation, Type SFT	\$1,301.48	\$3,904.44	\$1,700.00	\$5,100.00	\$1,900.00	\$5,700.00	\$1,295.00	\$3,885.00	\$2,100.00	\$6,300.00	\$2,000.00	\$6,000.00	\$1,700.00	\$5,100.00	\$2,000.00	\$6,000.00
306	6H00SPF	3	Each	Foundation, Type SPF	\$864.30	\$2,592.90	\$850.00	\$2,550.00	\$950.00	\$2,850.00	\$860.00	\$2,580.00	\$1,100.00	\$3,300.00	\$1,000.00	\$3,000.00	\$850.00	\$2,550.00	\$1,000.00	\$3,000.00
307	6H00STF	6	Each	Foundation, Type STF	\$7,029.98	\$42,179.88	\$3,820.00	\$22,920.00	\$4,600.00	\$27,600.00	\$6,995.00	\$41,970.00	\$5,200.00	\$31,200.00	\$4,800.00	\$28,800.00	\$4,200.00	\$25,200.00	\$5,000.00	\$30,000.00
308	6H00TSH	31	Each	Traffic Signal Head	\$1,070.33	\$33,180.23	\$1,100.00	\$34,100.00	\$1,200.00	\$37,200.00	\$1,065.00	\$33,015.00	\$1,300.00	\$40,300.00	\$1,200.00	\$37,200.00	\$800.00	\$24,800.00	\$1,200.00	\$37,200.00
309	6H00TSM	4	Each	Traffic Signal Mast Arm, Aluminum	\$1,859.25	\$7,437.00	\$1,900.00	\$7,600.00	\$2,100.00	\$8,400.00	\$1,850.00	\$7,400.00	\$2,300.00	\$9,200.00	\$2,200.00	\$8,800.00	\$3,800.00	\$15,200.00	\$2,000.00	\$8,000.00
310	6H01TSM	6	Each	Traffic Signal Mast Arm, Steel	\$7,839.00	\$47,034.00	\$7,800.00	\$46,800.00	\$6,700.00	\$40,200.00	\$7,800.00	\$46,800.00	\$7,500.00	\$45,000.00	\$7,000.00	\$42,000.00	\$8,300.00	\$49,800.00	\$6,000.00	\$36,000.00
311	6H02TSC	1,090.00	L.F.	Traffic Signal Cable, 2 Conductor	\$1.81	\$1,972.90	\$1.80	\$1,962.00	\$3.00	\$3,270.00	\$1.80	\$1,962.00	\$3.00	\$3,270.00	\$2.25	\$2,452.50	\$2.00	\$2,180.00	\$3.00	\$3,270.00
312	6H04PSA	3	Each	Pedestrian Signal Standard	\$638.18	\$1,914.54	\$635.00	\$1,905.00	\$700.00	\$2,100.00	\$635.00	\$1,905.00	\$780.00	\$2,340.00	\$750.00	\$2,250.00	\$600.00	\$1,800.00	\$700.00	\$2,100.00
313	6H05TSC	2,830.00	L.F.	Traffic Signal Cable, 5 Conductor	\$2.21	\$6,254.30	\$2.20	\$6,226.00	\$3.00	\$8,490.00	\$2.20	\$6,226.00	\$3.00	\$8,490.00	\$2.75	\$7,782.50	\$2.50	\$7,075.00	\$3.00	\$8,490.00
314	6H06TSS	4	Each	Traffic Signal Standard, Aluminum	\$1,849.20	\$7,396.80	\$1,840.00	\$7,360.00	\$2,200.00	\$8,800.00	\$1,840.00	\$7,360.00	\$2,400.00	\$9,600.00	\$2,200.00	\$8,800.00	\$2,200.00	\$8,800.00	\$2,000.00	\$8,000.00
315	6H07TSS	6	Each	Traffic Signal Standard, Steel	\$7,487.25	\$44,923.50	\$7,450.00	\$44,700.00	\$7,800.00	\$46,800.00	\$7,450.00	\$44,700.00	\$8,900.00	\$53,400.00	\$8,000.00	\$48,000.00	\$1,500.00	\$9,000.00	\$8,000.00	\$48,000.00
316	6H10TSC	5,955.00	L.F.	Traffic Signal Cable, 10 Conductor	\$2.91	\$17,329.05	\$2.90	\$17,269.50	\$4.00	\$23,820.00	\$2.90	\$17,269.50	\$4.00	\$23,820.00	\$3.25	\$19,353.75	\$4.00	\$23,820.00	\$4.00	\$23,820.00
317	6A00136	2	Each	Meter Cabinet, Type TL	\$1,969.80	\$3,939.60	\$1,960.00	\$3,920.00	\$3,300.00	\$6,600.00	\$1,960.00	\$3,920.00	\$3,700.00	\$7,400.00	\$3,500.00	\$7,000.00	\$5,000.00	\$10,000.00	\$3,000.00	\$6,000.00
318	6A00121	3	Each	Controller, 8 Phase	\$16,632.75	\$49,898.25	\$17,000.00	\$51,000.00	\$19,000.00	\$57,000.00	\$16,550.00	\$49,650.00	\$20,000.00	\$60,000.00	\$20,000.00	\$60,000.00	\$19,000.00	\$57,000.00	\$20,000.00	\$60,000.00
319	6A00122	3	Each	Controller Turn-On	\$4,422.00	\$13,266.00	\$4,500.00	\$13,500.00	\$3,800.00	\$11,400.00	\$4,400.00	\$13,200.00	\$4,300.00	\$12,900.00	\$4,000.00	\$12,000.00	\$2,000.00	\$6,000.00	\$4,000.00	\$12,000.00
320	6A00119	2	Each	Foundation, Type P-MC	\$2,522.55	\$5,045.10	\$3,500.00	\$7,000.00	\$2,900.00	\$5,800.00	\$2,510.00	\$5,020.00	\$3,200.00	\$6,400.00	\$3,000.00	\$6,000.00	\$2,500.00	\$5,000.00	\$3,000.00	\$6,000.00
321	6H01ITS	1	L.S.	Interim Traffic Signal System, Location No. 1	\$12,562.50	\$12,562.50	\$18,000.00	\$18,000.00	\$20,000.00	\$20,000.00	\$12,500.00	\$12,500.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$15,000.00	\$15,000.00	\$18,000.00	\$18,000.00
322	6H02ITS	1	L.S.	Interim Traffic Signal System, Location No. 2	\$27,888.75	\$27,888.75	\$28,000.00	\$28,000.00	\$30,000.00	\$30,000.00	\$27,750.00	\$27,750.00	\$31,000.00	\$31,000.00	\$30,000.00	\$30,000.00	\$37,000.00	\$37,000.00	\$28,000.00	\$28,000.00
323	6H03ITS	1	L.S.	Interim Traffic Signal System, Location No. 3	\$26,868.68	\$26,868.68	\$27,000.00	\$27,000.00	\$30,000.00	\$30,000.00	\$26,735.00	\$26,735.00	\$31,000.00	\$31,000.00	\$30,000.00	\$30,000.00	\$28,000.00	\$28,000.00	\$28,000.00	\$28,000.00
324	N6I0001	1	L.S.	Toll Plaza Electrical Work	\$110,550.00	\$110,550.00	\$115,000.00	\$115,000.00	\$140,000.00	\$140,000.00	\$110,000.00	\$110,000.00	\$143,000.00	\$143,000.00	\$135,000.00	\$135,000.00	\$90,000.00	\$90,000.00	\$130,000.00	\$130,000.00
325	7C01TOP	247,017.00	S.Y.	Topsoil	\$1.23	\$303,830.91	\$2.70	\$666,945.90	\$1.35	\$333,472.95	\$1.53	\$377,936.01	\$2.00	\$494,034.00	\$1.15	\$284,069.55	\$3.00	\$741,051.00	\$1.80	\$444,630.60
326	7D01SED	120,000.00	S.Y.	Seeding, Type A	\$0.65	\$78,000.00	\$0.75	\$90,000.00	\$0.80	\$96,000.00	\$0.70	\$84,000.00	\$1.00	\$120,000.00	\$0.55	\$66,000.00	\$0.75	\$90,000.00	\$0.70	\$84,000.00
328	7D03SED	1,000.00	S.Y.	Seeding, Type C	\$0.50	\$500.00	\$0.60	\$600.00	\$0.80	\$800.00	\$0.55	\$550.00	\$1.00	\$1,000.00	\$0.60	\$600.00	\$0.75	\$750.00	\$0.70	\$700.00
329	7D08SED	112,000.00		Seeding, Type L	\$0.75			\$117,600.00	\$0.50	\$56,000.00		\$112,000.00	\$1.00		\$0.70	\$78,400.00		\$56,000.00	\$0.70	\$78,400.00
330	7D20MOW	50	Acre	Mowing	\$552.75	\$27,637.50	\$400.00	\$20,000.00	\$330.00	\$16,500.00	\$375.00	\$18,750.00	\$0.01	\$0.50	\$200.00	\$10,000.00	\$300.00	\$15,000.00	\$500.00	\$25,000.00
331	7D20SED	49,986.00	S.Y.	Wet Meadow Seed Mix, Type W	\$0.95	\$47,486.70	\$1.50	\$74,979.00	\$1.00	\$49,986.00	\$1.45	\$72,479.70	\$1.00	\$49,986.00	\$0.80	\$39,988.80	\$1.00	\$49,986.00	\$1.00	\$49,986.00

Base Line Item Detail			Earle Asphalt Company George Ha		•	s Construction Co., Inc. D'Annunzio & Sons, Inc.		Northeast Remsco Construction, Inc.		Midlantic Construction, LLC		A. Servidone Inc and B. Anthony Const Corp JV		South State, Inc.		Anselmi and DeCicco, Inc				
332	7F01SSM	67,000.00	S.Y.	Soil Stablization Matting	\$3.67	\$245,890.00	\$1.75	\$117,250.00	\$2.60	\$174,200.00	\$1.65	\$110,550.00	\$3.00	\$201,000.00	\$1.00	\$67,000.00	\$2.50	\$167,500.00	\$3.50	\$234,500.00
333	7F02SSM	78,390.00	S.Y.	Permanent Soil Stabilization Matting	\$2.51	\$196,758.90	\$3.20	\$250,848.00	\$3.90	\$305,721.00	\$2.95	\$231,250.50	\$4.00	\$313,560.00	\$3.00	\$235,170.00	\$4.00	\$313,560.00	\$2.75	\$215,572.50
334	7L01NVA	250	S.Y.	Nonvegetative Surface, Hot Mix Asphalt	\$20.00	\$5,000.00	\$34.50	\$8,625.00	\$27.00	\$6,750.00	\$27.00	\$6,750.00	\$40.00	\$10,000.00	\$30.00	\$7,500.00	\$28.00	\$7,000.00	\$40.00	\$10,000.00
335	8A01MPT	1	L.S.	Furnishing Traffic Control Devices	\$337,058.45	\$337,058.45	\$100,000.00	\$100,000.00	\$700,000.00	\$700,000.00	\$2,000,000.00	\$2,000,000.00	\$636,000.00	\$636,000.00	\$300,000.00	\$300,000.00	\$600,000.00	\$600,000.00	\$100,000.00	\$100,000.00
336	8A06MPT	95	Barrel	Repair Temporary Impact Attenuators	\$523.64	\$49,745.80	\$375.00	\$35,625.00	\$450.00	\$42,750.00	\$350.00	\$33,250.00	\$0.01	\$0.95	\$680.00	\$64,600.00	\$0.01	\$0.95	\$500.00	\$47,500.00
337	8A07MPT	4	Each	Repair Truck Mounted Impact Attenuators	\$39,375.00	\$157,500.00	\$4,000.00	\$16,000.00	\$17,000.00	\$68,000.00	\$10,550.00	\$42,200.00	\$0.01	\$0.04	\$10,000.00	\$40,000.00	\$0.01	\$0.04	\$10,000.00	\$40,000.00
338	8A25MPT	1	L.S.	Police Traffic Directors (This is a NO-BID, Lump Sum item for this contract. The Lump Sum price is \$75,000. Enter a Unit Price of \$75,000 as your bid for this item.)	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00
339	8A30MPT	4	Each	Furnishing Portable Variable Message Sign	\$16,875.00	\$67,500.00	\$5,700.00	\$22,800.00	\$10,000.00	\$40,000.00	\$10,000.00	\$40,000.00	\$23,000.00	\$92,000.00	\$25,000.00	\$100,000.00	\$30,000.00	\$120,000.00	\$15,000.00	\$60,000.00
340	N8A0001	25,000.00	L.F.	Furnishing Precast Concrete Construction Barrier	\$22.50	\$562,500.00	\$18.00	\$450,000.00	\$10.00	\$250,000.00	\$19.20	\$480,000.00	\$20.00	\$500,000.00	\$32.00	\$800,000.00	\$5.00	\$125,000.00	\$25.00	\$625,000.00
341	N8A0002	74,500.00	L.F.	Placing and Removing Precast Concrete Construction Barrier	\$0.01	\$745.00	\$17.35	\$1,292,575.00	\$14.00	\$1,043,000.00	\$8.75	\$651,875.00	\$10.00	\$745,000.00	\$10.00	\$745,000.00	\$2.00	\$149,000.00	\$7.00	\$521,500.00
342	N8A0003	7,000.00	L.F.	Resetting Precast Concrete Construction Barrier	\$16.53	\$115,710.00	\$9.50	\$66,500.00	\$2.00	\$14,000.00	\$9.00	\$63,000.00	\$0.01	\$70.00	\$1.50	\$10,500.00	\$4.00	\$28,000.00	\$7.00	\$49,000.00
343	8B15MPT	7,000.00	M.H.	Traffic Protection Patrol	\$0.01	\$70.00	\$60.00	\$420,000.00	\$60.00	\$420,000.00	\$40.00	\$280,000.00	\$0.01	\$70.00	\$75.00	\$525,000.00	\$0.01	\$70.00	\$65.00	\$455,000.00
344	8B17MPT	3	Each	Furnishing Truck with Mounted Attenuator	\$70,200.00	\$210,600.00	\$30,000.00	\$90,000.00	\$20,000.00	\$60,000.00	\$52,000.00	\$156,000.00	\$0.01	\$0.03	\$50,000.00	\$150,000.00	\$40,000.00	\$120,000.00	\$15,000.00	\$45,000.00
345	8B18MPT	6	Each	Furnishing Temporary Impact Attenuator	\$7,256.25	\$43,537.50	\$4,750.00	\$28,500.00	\$4,000.00	\$24,000.00	\$4,000.00	\$24,000.00	\$28,000.00	\$168,000.00	\$7,500.00	\$45,000.00	\$4,000.00	\$24,000.00	\$4,500.00	\$27,000.00
346	8B19MPT	200	м.н.	Furnishing Truck with Mounted Attenuator for Engineer's Use	\$458.69	\$91,738.00	\$150.00	\$30,000.00	\$85.00	\$17,000.00	\$100.00	\$20,000.00	\$0.01	\$2.00	\$100.00	\$20,000.00	\$150.00	\$30,000.00	\$100.00	\$20,000.00
347	8B20MPT	16	Each	Placing and Removing Temporary Impact Attenuator	\$1,019.75	\$16,316.00	\$3,400.00	\$54,400.00	\$3,000.00	\$48,000.00	\$1,500.00	\$24,000.00	\$2,000.00	\$32,000.00	\$5,000.00	\$80,000.00	\$2,000.00	\$32,000.00	\$2,000.00	\$32,000.00
349	8C21MLR	1	L.S.	Maintenance and Protection of Traffic on Location No. 1	\$15,075.00	\$15,075.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00	\$8,000.00	\$8,000.00	\$10,000.00	\$10,000.00	\$125,000.00	\$125,000.00	\$1,000.00	\$1,000.00
350	8C22MLR	1	L.S.	Maintenance and Protection of Traffic on Location No. 2	\$25,125.00	\$25,125.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00	\$8,000.00	\$8,000.00	\$2,000.00	\$2,000.00	\$100,000.00	\$100,000.00	\$25,000.00	\$25,000.00
351	8F01SWS	1	L.S.	Smart Workzone System	\$168,940.50	\$168,940.50	\$225,000.00	\$225,000.00	\$200,000.00	\$200,000.00	\$270,000.00	\$270,000.00	\$153,000.00	\$153,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$100,000.00	\$100,000.00

Base Line Item Detail			Earle Asphalt Company George Harms			Construction Co., D'Annunzio & Sons, Inc.			Northeast Rems	sco Construction,	Midlantic Cor	estruction, LLC	A. Servidone Inc and B. Anthony Const Corp JV		South State, Inc.		Anselmi and DeCicco, Inc			
352	5ZL0257	11	Each	JCP&L Steel Pole Foundation	\$175,875.00	\$1,934,625.00	\$65,000.00	\$715,000.00	\$110,000.00	\$1,210,000.00	\$110,000.00	\$1,210,000.00	\$140,000.00	\$1,540,000.00	\$200,000.00	\$2,200,000.00	\$5,000.00	\$55,000.00	\$25,000.00	\$275,000.00
353	5P11REM	90,000.00	L.F.	Striping and Marking Removal, Mechanical	\$0.41	\$36,900.00	\$0.45	\$40,500.00	\$0.50	\$45,000.00	\$0.45	\$40,500.00	\$1.00	\$90,000.00	\$0.50	\$45,000.00	\$0.40	\$36,000.00	\$1.00	\$90,000.00
354	5P12REM	2,500.00	L.F.	Striping and Marking Removal, Hydromilling	\$0.77	\$1,925.00	\$0.60	\$1,500.00	\$0.70	\$1,750.00	\$0.60	\$1,500.00	\$1.00	\$2,500.00	\$0.70	\$1,750.00	\$0.75	\$1,875.00	\$5.00	\$12,500.00
355	5P14TMP	4,500.00	L.F.	Removable Wet Weather Pavement Marking Tape	\$1.68	\$7,560.00	\$2.00	\$9,000.00	\$2.00	\$9,000.00	\$1.95	\$8,775.00	\$3.00	\$13,500.00	\$2.00	\$9,000.00	\$1.75	\$7,875.00	\$6.00	\$27,000.00
356	5B00002	3	Each	14" x 23" Reinforced Concrete End Sections	\$1,880.76	\$5,642.28	\$1,130.00	\$3,390.00	\$1,500.00	\$4,500.00	\$2,100.00	\$6,300.00	\$1,700.00	\$5,100.00	\$2,000.00	\$6,000.00	\$1,400.00	\$4,200.00	\$1,200.00	\$3,600.00
357	2M00014	2,350.00	C.Y.	Excavation, Acid Producing Soils (This is a NO-BID, Cubic Yard item for this contract. The Cubic Yard Unit Price is \$10. Enter a Unit Price of \$10 as your bid for this item.)	\$10.00	\$23,500.00	\$10.00	\$23,500.00	\$10.00	\$23,500.00	\$10.00	\$23,500.00	\$10.00	\$23,500.00	\$10.00	\$23,500.00	\$10.00	\$23,500.00	\$10.00	\$23,500.00
358	2M00015	150	S.Y.	Acid-Producing Soils Remediation (This is a NO- BID, Square Yard item for this contract. The Square Yard Unit Price is \$3. Enter a Unit Price of \$3 as your bid for this item.)	\$3.00	\$450.00	\$3.00	\$450.00	\$3.00	\$450.00	\$3.00	\$450.00	\$3.00	\$450.00	\$3.00	\$450.00	\$3.00	\$450.00	\$3.00	\$450.00
359	2M00016	2,500.00	Ton	Disposal of Acid Producing Soil (This is a NO-BID, Ton item for this contract. The Ton Unit Price is \$25. Enter a Unit Price of \$25 as your bid for this item.)	\$25.00	\$62,500.00	\$25.00	\$62,500.00	\$25.00	\$62,500.00	\$25.00	\$62,500.00	\$25.00	\$62,500.00	\$25.00	\$62,500.00	\$25.00	\$62,500.00	\$25.00	\$62,500.00
360	2M00017	300	Each	Testing for Acid-Producing Soil Deposits (This is a NO- BID, Each item for this contract. The Each Unit Price is \$500. Enter a Unit Price of \$500 as your bid for this item.)	\$500.00	\$150,000.00	\$500.00	\$150,000.00	\$500.00	\$150,000.00	\$500.00	\$150,000.00	\$500.00	\$150,000.00	\$500.00	\$150,000.00	\$500.00	\$150,000.00	\$500.00	\$150,000.00

Base Line Item Detail					Earle Asphalt Company George Harms Company				Northeast Rems	sco Construction,	Midlantic Cor	struction, LLC		c and B. Anthony Corp JV	South State, Inc.		Anselmi and DeCicco, Inc			
361	2M00018	150	Each	Testing of Soils for Waste Classification (This is a NO- BID, Each item for this contract. The Each Unit Price is \$1,000. Enter a Unit Price of \$1,000 as your bid for this item.)	\$1,000.00	\$150,000.00	\$1,000.00	\$150,000.00	\$1,000.00	\$150,000.00			\$1,000.00	\$150,000.00	\$1,000.00		\$1,000.00	\$150,000.00	\$1,000.00	\$150,000.00
362	2M00019	200	Ton	Off-Site Disposal of ID-27 Waste (This is a NO-BID, Ton item for this contract. The Ton Unit Price is \$75. Enter a Unit Price of \$75 as your bid for this item.)	\$75.00	\$15,000.00	\$75.00	\$15,000.00	\$75.00	\$15,000.00	\$75.00	\$15,000.00	\$75.00	\$15,000.00	\$75.00	\$15,000.00	\$75.00	\$15,000.00	\$75.00	\$15,000.00
363	5B00081	74	L.F.	168.75" x 106.5" Reinforced Concrete Arch Pipe	\$3,656.45	\$270,577.30	\$1,775.00	\$131,350.00	\$1,000.00	\$74,000.00	\$2,100.00	\$155,400.00	\$1,600.00	\$118,400.00	\$2,000.00	\$148,000.00	\$2,300.00	\$170,200.00	\$300.00	\$22,200.00
364	5B00082	321	L.F.	73" x 45" Reinforced Concrete Arch Pipe	\$928.39	\$298,013.19	\$470.00	\$150,870.00	\$500.00	\$160,500.00	\$260.00	\$83,460.00	\$600.00	\$192,600.00	\$280.00	\$89,880.00	\$300.00	\$96,300.00	\$200.00	\$64,200.00
365	7D26SED	142,000.00	S.Y.	Seeding, Type B (This is a NO-BID, Square Yard item for this contract. The Square Yard Unit Price is \$0.75. Enter a Unit Price of \$0.75 as your bid for this item.)	\$0.75	\$106,500.00	\$0.75	\$106,500.00	\$0.75	\$106,500.00	\$0.75	\$106,500.00	\$0.75	\$106,500.00	\$0.75	\$106,500.00	\$0.75	\$106,500.00	\$0.75	\$106,500.00
366	N8G0004	3,800.00	Hour	Standby Wrecker Service, Light Duty (This is a NO- BID, Hourly item for this contract. The Hourly price is \$60.00. Enter a Unit Price of \$60.00 as your bid for this item.)	\$60.00	\$228,000.00	\$60.00	\$228,000.00	\$60.00	\$228,000.00	\$60.00	\$228,000.00	\$60.00	\$228,000.00	\$60.00	\$228,000.00	\$60.00	\$228,000.00	\$60.00	\$228,000.00
	1	1		Base Total		\$70,059,913.13		\$72,212,330.34		\$73,877,000.00		\$76,593,277.38		\$76,910,439.64		\$77,329,913.75		\$78,393,604.44		\$79,619,600.00